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� ˇø£ẙfī @<Ó’Hê ˇø£ n<Ûë´j·T+˝À yê´düs¡÷|ü Á|üX̄ï\kÕúsTT Á|üX̄ï\T <=s¡ø£q|ü⁄&ÉT \|òüTTdüe÷<ëq Á|üX̄ï\T

¬s+&ç+{Ïì ø£*|æ ˇø£ yê´düs¡÷|ü Á|üX̄ï>± Çe«e#·TÃ.

� Á|üXÊï|üÁ‘·eTT‘√bÕ≥T eT÷˝≤´+ø£q dü÷∫ø£\qT ≈£L&Ü sêdüTø√yê*.

� Á|üXÊï|üÁ‘·+ s¡÷bı+~+#·Tø=H̊eTT+<äT yÓTT<ä≥>± ã÷¢Á|æ+{Ÿ s¡÷bı+~+#·Tø√yê*. ã÷¢Á|æ+{Ÿ Ä<Ûës¡+>±

Á|üXÊï|üÁ‘·+ ‘·j·÷s¡T#̊j·÷*. ã÷¢Á|æ+{Ÿ Á|ü‹ Á|üXÊï|üÁ‘·eTTq≈£î π̌ø$<Ûä+>± ñ+&É<äT.  e÷s¡T‘·÷

ñ+≥T+~. øÏ+<ä ˇø£ qeT÷q ã÷¢Á|æ+{Ÿ ù||üsỲ 1, ù||üsỲ 2 Á|üXÊï|üÁ‘·+ ‘·j·÷] ø√dü+ Çe«ã&ç+~.

M{Ï Ä<Ûës¡+>± s¡÷bı+~+∫q qeT÷Hê Á|üXÊï|üÁ‘ê\qT ≈£L&É Çe«&ÉyÓTÆq~. M{Ïì |ü]o*+∫

ne>±Vü≤q bı+<äT<ë+.

>∑DÏ‘·+ ` ù||üsỲ 1 ` ã÷¢Á|æ+{Ÿ

uÛ≤s¡‘·«+ Essay Short answer Very short Multiple
kÕeTsêú́ \T questions questions answer choice

(4) (2) questions questions
(4)

düeTkÕ´ kÕ<Ûäq 40% 2(8) 2(4) 3(3) 2(1)

ø±s¡D≤\T #Ó|ü≥ ` 20% ` 2(4) 2(2) 4(2)

ìs¡÷|æ+#·T≥

e´ø£Ô|üs¡#·T≥ 10% ` ` 2(2) 4(2)

nqTdü+<Ûëq+ #̊j·TT≥ 15% 1(4) 1(2) ` `

ÁbÕ‹ì<Ûä́ |üs¡#·T≥ ` 15% 1(4) 1(2) ` `

<äèoø£]+#·T≥

>∑DÏ‘·+ ` ù||üsỲ 2 ` ã÷¢Á|æ+{Ÿ

uÛ≤s¡‘·«+ Essay Short answer Very short Multiple
kÕeTsêú́ \T questions questions answer choice

(4) (2) questions questions
(4)

düeTkÕ´ kÕ<Ûäq 40% 2(8) 2(4) 3(3) 2(1)

ø±s¡D≤\T #Ó|ü≥ ` 20% ` 2(4) 2(2) 4(2)

ìs¡÷|æ+#·T≥

e´ø£Ô|üs¡#·T≥ 10% ` 1(2) 1(1) 2(1)

nqTdü+<Ûëq+ #̊j·TT≥ 15% 1(4) 1(2) ` `

ÁbÕ‹ì<Ûä́ |üs¡#·T≥ ` 15% 1(4) ` 1(1) 2(1)

<äèoø£]+#·T≥
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Summative Assessment III - Model Paper
Mathematics

(English Version)

Time : 15 Min + 2 hr. 30 min.       Paper-I Max. Marks : 40

Instructions : 1. Read the whole question paper and understand every question thoroughly,

without writing any thing.  15 minutes of time is alloted for this.

2. Answer all the questions.

3. Write answers to the objective type questions on answer sheet, but at same

place.

I. Answer to all the following questions 7I1 = 7

Each question carries 1 mark.

1. Determine the vaue of 18
12log  + 8

12log  (Problem solving)

2. If  A = {1, 2, 3, 4} and B = {2, 4, 6, 8}, than find n (A ∪ B) (Problem solving).

3. Verify whether -3 and 2 are the zeroes of the polynomial x3 - x2 + x - 6. (Reasoning

Proof).

4. Difference between a two digit number and the number formed by interchanging its

digits is 36.  Express this data as an algebraic equation. (Communication)

5. Explain the characteristic of a line passing through points (-5, 2), (0, 2), (3, 2), (5, 2).

(Communication)

6. Find the roots of 6x2 - 2x + 5 = 0. (Problem solving)

7. Prove that 2 3+  is an iriational number. (Reasoning Proof)

II. Answer all the following questions. Each question carries 2 marks. 6 I 2 = 12

8. Find the area of a rectangle whose length and breadth are the roots of the quadratic

equation x2 - 6x + 8 = 0  (Connection)

9. Mark a point on the second quadrant which is equidistant from quodriatic axes.

(Representation)

10. If (3I4I5I7) + (19I21I23) a composite number.  Justify your answer. (Reasoning Proof)
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11. If 6th term of a G.P. is 46875 and its 4th term is 375.  Find its 9th term. (Problem solving)

12. Find the points of trisection of the segment joining the points (3, -2) and (-9, 4) (Problem

solving)

13. How can you say that the points (1, -5), (3, -2), (7, 4) are collinear ? (Reasoning proof)

III. Every question has internal choice in the following.

Answer to any one alternative.  Each question carries 4 marks. 4I4 = 16

14. (a) If 1 and 2 are the zeros of the polynomid find x4 - 4x3 - 15x2 + 58x - 40, find

other zeroes if any.   (Problem solving)

OR

(b) Find the polynomials whose zeroes are (i) 3, - 4 and  (ii) 3 , 3

15. (a) Find the sum of all the multiples of 2 or 3 between 100 and 200 (100 and 200

are not included).   (Problem solving)

OR

(b) If the third and sixth terms of a geometric progression are 12 and 96, then find

the number of terms in the progression, which are less than 2000.

16. (a) While a helicoptor is descending vertically an aviation kit dropped from it.  If the

height of the helicopter when the kit dropped is 590 m. Find how much time does

the kit reach the ground, also find its final velicity before it touches the ground.

(Connection)

OR

(b) If Ganesh is 2 years elder to his sister, in how many years does he become a

voter ?

17. (a) Neelesh went to market to buy mangoes.  He had enough money to buy number

of mangoes which are five times the cost of each mango.  If the cost of each

mango is 2 less, he would have get 12 more mangoes.  With this data daw a

graph to find the cost of each mango and the number of mangoes. (Visualisation)

OR

(b) Check whether the following pairs of lines are intersecting, pardled or coincident

lines. 3x + 5y + 2 = 0, 2x - y + 10 = 0.  Mark their solution on the graph.
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IV. Choose the correct alternative for the following problems and write your answer A,

B, C or D on the answer sheet.  Each question carries 
1

2
 mark. 10 I 

1

2
 = 5

18 Standard form of 26 I 55 is  (Communication) [       ]

A) 64 I 3225 B)  200000 C) 20 I 104 D) 2.0 I 105

19. In the rational form of a terminating decimal number prime factor of the denominator is

(Reasoning proof)      [      ]

A) 5 only B) 2 only C) 2 or 5 only D) Any prime

20. Staded Region represented by the vern diagram (Communication)   [      ]

A) P ∪ Q B) P ∩ Q C) P-Q D) Q-P

21. If 2 is the zero of a polynomial ax3 + bx2 + cx + d, then the possible value of 'd' will

be   (Reasoning Proof)              [      ]

A) 1 B) -1 C) 2 D) 0

22. Linear equation is two variable among the following is  (Reasoning Proof) [      ]

A) (x+1)(y+2) = 0 B) (2x+1) ÷  (y-1) = 0

C) (x-1) + (2y - 5) = 0 D) x(y+1) = 0

23. In a quadratic equation discriminant is zero then the roots are  (Communication) [       ]

A) real B) distinct C) imaginary D) none

24. Graph of a quadratic equation with two distinct roots   (Communication) [      ]

A) B) C) D)

25. Common difference of an AP is 3.  If 2 is added to every term of the progression, then

the common difference new AP (Problem solving)              [       ]

A) 5 B) 6 C) 3 D) 2

26. Co-ordinates of a point on X–axis, which is at 5 units away from (2, 0) is (Problem solving)

A) (-3, 0) B) (7, 0) C) both A and B     D) (2, 5)   [       ]

27. If slopes of line segments AB and BC are equal then the area of ΔABC is  [       ]

(Reasoning Proof)

A) Positure B) Zero C) Negative     D) Imaginary

P Q
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dü+Á>∑Vü≤D≤‘·àø£ eT÷˝≤´+ø£q+ qeT÷Hê Á|üXÊï|üÁ‘·+

>∑DÏ‘·eTT

(‘Ó\T>∑T e÷<Ûä́ eTeTT)

düeTj·T+ : 15 ì G 2 >∑+.30 ì     ù||üsỲ I        >∑]wüº e÷s¡Tÿ\T : 40

dü÷#·q\T : 1. yÓTT<ä{Ï 15 ìˆˆ\˝À Á|üXÊï|üÁ‘·eTTqT |üP]Ô>± #·~$ ne>±Vü≤q #̊düTø√+&ç.

2. nìï Á|üX̄ï\≈£î düe÷<Ûëq+ Áyêj·T+&ç.

3. ãVüQfiË’∫Ãø£ Á|üX¯ï\≈£î düe÷<ÛëqeTT\qT düe÷<Ûëq|üÁ‘·eTT˝À Áyêj·T+&ç. nìï+{Ïì π̌ø

Á|ü<̊X̄eTT˝À Áyêj·T+&ç.

I. ÁøÏ+~ nìï Á|üX̄ï\≈£î düe÷<Ûëq+ Áyêj·T+&ç. ˇø=ÿø£ÿ Á|üX̄ï≈£î 1 e÷s¡Tÿ. 7I1 R 7

1. 18
12log  + 8

12log  jÓTTø£ÿ $\TeqT ø£qT>=qTeTT. (düeTkÕ´ kÕ<Ûäq)

2. A = {1, 2, 3, 4} eT]j·TT B = {2, 4, 6, 8} nsTTq n (A ∪ B) ø£qT>=qTeTT. (düeTkÕ´ kÕ<Ûäq)

3. x3 - x2 + x - 6 jÓTTø£ÿ X̄Sq´$\Te\T -3, 2 \T ne⁄‘êjÓ÷ Ò̋<√ |üØøÏå+#·TeTT. (ø±s¡D≤\T`ìs¡÷|üD\T)

4. ˇø£ ¬s+&É+¬ø\ dü+K´ eT]j·TT <ëì n+¬ø\qT ‘ês¡Te÷s¡T #̊j·T>± @s¡Œ&çq dü+K´\ uÒ<ÛäeTT 36.

á düe÷#êsêìï ˇø£ ;»>∑DÏ‘· düMTø£s¡D+>± e÷s¡TÃeTT.  (e´ø£Ô|üs¡#·&É+)

5. ˇø£ kÕ<Ûës¡D ‘Ó\¢ø±–‘·+ô|’ qeT÷Hê ìs¡÷|üø±øå±\qT ^dæ <ëì˝À ¬s+&Ée bÕ<äeTT˝À

ìs¡÷|üø±øå±\qT+&ç düe÷q<ä÷s¡+˝À ñ+&̊ _+<äTe⁄qT >∑T]Ô+#·+&ç. (e´ø£Ô|üs¡#·&É+)

6. 6x2 - 2x +5 = 0 düMTø£s¡D eT÷˝≤\ dü«uÛ≤yêìï ‘Ó\TŒeTT. (düeTkÕ´ kÕ<Ûäq)

7. 2 3+  ˇø£ ø£s¡D°j·Tdü+K´ nì ìs¡÷|æ+#·+&ç. (ø±s¡D≤\T`ìs¡÷|üD\T)

II. ÁøÏ+~ Á|üX̄ï\ìï+{ÏøÏ düe÷<ÛëqeTT\T Áyêj·T+&ç. Á|ü‹ Á|üX̄ï≈£î 2 e÷s¡Tÿ\T 6I2 R 12

8. x2 - 6x + 8 = 0 düMTø£s¡D eT÷˝≤\T bı&Ée⁄, yÓ&É\TŒ\T>± >∑\ Bs¡È#·‘·Ts¡Ádü yÓ’XÊ˝≤´ìï

ø£qT>=qTeTT. (nqTdü+<Ûëq+)

9. ˇø£ ìs¡÷|üø£ ‘·\+˝À ìs¡÷|üø±øå±\≈£î düe÷q<ä÷s¡+˝À ñ+&ÉTq≥T¢>± ¬s+&Ée bÕ<ä+˝À @<̊ì ˇø£

_+<äTe⁄qT >∑T]Ô+#·+&ç. (ÁbÕ‹ì<Ûä́ |üs¡#·&É+)

10. (3I4I5I7) + (19I21I23) dü+j·TTø£Ô dü+K´j̊THê? dü]#·÷&É+&ç. (ø±s¡D≤\T`ìs¡÷|üD\T)

11. ˇø£ >∑TDÁX‚&Ûç (G.P) ˝Àì 6e |ü<ä+ 46875 eT]j·TT <ëì˝Àì 4e |ü<äeTT 375 nsTTq 9e

|ü<ëìï ø£qT>=qTeTT.  (düeTkÕ´ kÕ<Ûäq)

12. (3, `2) eT]j·TT (`9, 4) _+<äTe⁄\qT ø£\T|ü⁄ πsU≤K+&É+ ô|’qTqï Á‹<Ûëø£s¡D _+<äTe⁄\qT

ø£qT>=q+&ç. (düeTkÕ´ kÕ<Ûäq)
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13. ˇø£ es¡ZãVüQ|ü~ jÓTTø£ÿ X̄SHê´\ yÓTT‘·Ô+ eT]j·TT X̄SHê´\ \u≤›\T düe÷qyÓTÆq <ëì >∑TDø±\

eT<Ûä́  dü+ã+<Ûëìï sêã≥TºeTT. (ø±s¡D≤\T`ìs¡÷|üD\T)

III. ÁøÏ+~ Á|üX̄ï\ìï+{ÏøÏ düe÷<ÛëqeTT\T Áyêj·T+&ç.  Á|ü‹ Á|üX̄ï˝À n+‘·s¡Z‘· m+|æø£ Çe«ã&çq~.

Á|ü‹ Á|üX̄ï≈£î 4 e÷s¡Tÿ\T. 4I4 R 16

14. (a) ãVüQ|ü~ x4 - 4x3 - 15x2 + 58x - 40 jÓTTø£ÿ ¬s+&ÉT X̄Sq´$\Te\T 1 eT]j·TT 2 nsTTq

$T–*q X̄Sq´$\Te\qT ø£qT>=q+&ç. (düeTkÕ´ kÕ<Ûäq)

˝Òø£

(b) ÁøÏ+~ X̄Sq´$\Te\T >∑\ es¡Z ãVüQ|ü<äT\qT Áyêj·T+&ç. (düeTkÕ´ kÕ<Ûäq)

(i) 3, - 4 (ii) 3 , 3

15. (a) 100, 200 \ eT<Ûä́ >∑\ (100, 200 $TqVü‰) 2 Ò̋ø£ 3 \ jÓTTø£ÿ >∑TDø±\ yÓTT‘·ÔeTT

ø£qT>=q+&ç. (düeTkÕ´ kÕ<Ûäq)

˝Òø£

(b) ˇø£ >∑TDÁX‚&ç̋ Àì 3e, 6e |ü<äeTT\T es¡Tdü>± 12 eT]j·TT 96 nsTTq Ä ÁX‚&Ûç̋ À 2000

ø£Hêï ‘·≈£îÿe >∑\ |ü<äeTT\T mìï? (düeTkÕ´ kÕ<Ûäq)

16. (a) ˇø£ ôV≤*ø±|üºs¡T ì≥ºì\Te⁄>± ÁøÏ+~øÏ ~>∑T‘·Tqï|ü&ÉT n+<äT˝ÀqT+&ç ˇø£ Äj·TT<Ûë\

eT÷≥ ÁøÏ+<ä|ü&çq~. eT÷≥ C≤] |ü&çq|ü&ÉT ôV≤*ø±|üºs¡T m‘·TÔ 590 MT nsTTq eT÷≥

H̊\ ‘ê≈£î≥≈£î m+‘· düeTj·T+ |ü&ÉT‘·T+~? H̊\qT ‘ê≈£î düeTj·÷ìøÏ eT÷≥ >∑]wü̃ẙ>∑eTT

m+‘·? (nqTdü+<Ûëq+)

˝Òø£

(b) >∑DÒwt ej·TdüT‡ n‘·ì k˛<ä] d”‘· ej·TdüT‡ø£+fÒ 2 dü+ˆˆ m≈£îÿe. yê] Á|üdüTÔ‘· ej·TdüT‡\

\ã›+, ˇø£ dü+e‘·‡s¡+ ÁøÏ‘·+ yê] ej·TdüT‡\ yÓTT‘·Ô+q≈£î 5 ¬s≥T¢ nsTTq yê] Á|üdüTÔ‘·

ej·TdüT‡ m+‘·? >∑DÒwt z≥TVü≤≈£îÿ bı+<ë\+fÒ Ç+ø£q÷ mìï dü+e‘·‡sê\T ø±yê*.

(Á|üdüTÔ‘· z≥TVü≤≈£îÿ ej·TdüT‡ 18 dü+ˆˆ). (nqTdü+<Ûëq+)

17. (a) ˙ Ò̋wt e÷$T&ç|ü+&ÉT¢ ø=q&ÜìøÏ e÷¬sÿ{Ÿ≈£î yÓfi≤fl&ÉT. ‘·q <ä>∑Zs¡Tqï kıeTTà‘√ ˇø=ÿø£ÿ e÷$T&ç|ü+&ÉT

KØ<äTø£+fÒ ◊<äT¬s≥T¢ dü+K´˝À e÷$T&ç|ü+&ÉT¢ ø=q>∑\&ÉT. ˇø=ÿø£ÿ e÷$T&ç|ü+&ÉT KØ<äT r 2

‘·≈£îÿyÓ’ ñ+fÒ 12 e÷$T&ç|ü+&É¢ dü+K´qT ˇø=ÿø£ÿ |ü+&ÉT KØ<äTqT ø£qT>=qT≥≈£î πsU≤∫Á‘·+

^j·T+&ç. (ÁbÕ‹ì<Ûä́ |üs¡#·&É+)

˝Òø£

(b) ÁøÏ+~ πsK\ »‘· K+&ÉqπsK˝À, düe÷+‘·s¡πsK˝À Ò̋ø£ @ø°uÛÑ$+#̊ πsK˝À ø£qT>=q+&ç.

πsU≤∫Á‘·+ ^∫ yê{Ï kÕ<ÛäqqT >∑T]Ô+#·+&ç. (ÁbÕ‹ì<Ûä́ |üs¡#·&É+)

3x + 5y + 2 = 0, 2x - y + 10 = 0
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IV. ÁøÏ+~ ãVüQfiË’∫Ãø£ Á|üX̄ï\≈£î düe÷<ÛëqeTT\qT >∑T]Ô+#·+&ç, MT düe÷<ÛëqeTT\T A, B, C eT]j·TT D qT

düe÷<Ûëq |üÁ‘·eTT˝À Áyêj·T+&ç. ˇø=ÿø£ÿ Á|üX̄ï≈£î 
1

2
 e÷s¡Tÿ. 10 I 

1

2
 = 5

18. 26 I 55  jÓTTø£ÿ ÁbÕe÷DÏø£ s¡÷|üeTT  (e´ø£Ô|üs¡#·&É+) [       ]

A) 64 I 3225 B)  200000 C) 20 I 104 D) 2.0 I 105

19. n+‘·eTj̊T´ <äXÊ+X̄eTT jÓTTø£ÿ nø£s¡D°j·T dü+U≤´s¡÷|ü+˝À Vü‰s¡eTT jÓTTø£ÿ Á|ü<Ûëq ø±s¡D≤+ø£eTT\T

(ø±s¡D≤\T`ìs¡÷|üD\T)

A) 5 \T e÷Á‘·ẙT B) 2 \T e÷Á‘·ẙT  [       ]

C) 2 Ò̋ø£ 5 \T e÷Á‘·ẙT D) @ Á|ü<ÛëHê+ø£+ nsTTHê

20. Á|üø£ÿ yÓHé ∫Á‘·eTT˝À ùw&é #̊j·Tã&çq uÛ≤>∑+#̊ dü÷∫+|üã&ÉT dü$T‹ [       ]

A) P ∪ Q B) P ∩ Q C) P-Q D) Q-P       (e´ø£Ô|üs¡#·&É+)

21. ax3 + bx2 + cx + d, jÓTTø£ÿ ãVüQ|ü~ X̄Sq´$\Te 2 nsTTq 'd' ≈£î kÕ<Ûä́ |ü&ÉT $\Te

(ø±s¡D≤\T`ìs¡÷|üD\T)

A) 1 B) -1 C) 2 D) 0 [       ]

22. ÁøÏ+~ yêì˝À ~«es¡í πsFj·T düMTø£s¡DeTT (ø±s¡D≤\T`ìs¡÷|üD\T) [       ]

A) (x+1)(y+2) = 0 B) (2x+1) ÷  (y-1) = 0

C) (x-1) + (2y - 5) = 0 D) x(y+1) = 0

23. es¡Z düMTø£s¡D+ jÓTTø£ÿ $#·øÏåDÏ düTqï nsTTq <ëì eT÷˝≤\T (e´ø£Ô|üs¡#·&É+)          [       ]

A) yêdüÔyê\T B) $_ÛHêï\T C) dü+ø°sêí\T D) @Mø±e⁄

24. $_Ûqï eT÷˝≤\T >∑\ es¡Z düMTø£s¡D+ jÓTTø£ÿ πsU≤∫Á‘·+ (e´ø£Ô|üs¡#·&É+) [       ]

A) B) C) D)

25. |ü<ë+‘·s¡+ 3 >± >∑\ n+ø£ÁX‚&Ûç̋ Àì nìï |ü<ë\≈£î 2 ø£\T|ü>± @s¡Œ&ÉT Áø=‘·Ô>± @s¡Œ&̊ ÁX‚&Ûç̋ Àì

|ü<ë+‘·s¡eTT (düeTkÕ´ kÕ<Ûäq)     [       ]

A) 5 B) 6 C) 3 D) 2

26. (2, 0) _+<äTe⁄qT+&ç X–nø£å+ô|’ düe÷q <ä÷s¡+˝À >∑\ _+<äT ìs¡÷|üø±\T (düeTkÕ´ kÕ<Ûäq)

A) (-3, 0) B) (7, 0) C) A eT]j·TT B     D) (2, 5)   [       ]

27. AB eT]j·TT BC πsU≤K+&Ü\ yê\T\T düe÷q+ nsTTq ΔABC yÓ’XÊ\´+   [       ]

(ø±s¡D≤\T`ìs¡÷|üD\T)

A) <ÛäHê‘·àø£+ B) düTqï C) ãTTD≤‘·àø£+     D) ø£*Œ‘·+

P Q
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dü+Á>∑Vü≤D≤‘·àø£ eT÷˝≤´+ø£q+ qeT÷Hê Á|üXÊï|üÁ‘·+

>∑DÏ‘·eTT

(‘Ó\T>∑T e÷<Ûä́ eTeTT)

düeTj·T+ : 15 ì G 2 >∑+.30 ì     ù||üsỲ II        >∑]wüº e÷s¡Tÿ\T : 40

dü÷#·q\T : 1. yÓTT<ä{Ï 15 ìˆˆ\˝À Á|üXÊï|üÁ‘·eTTqT |üP]Ô>± #·~$ ne>±Vü≤q #̊düTø√+&ç.

2. nìï Á|üX̄ï\≈£î düe÷<Ûëq+ Áyêj·T+&ç.

3. ãVüQfiË’∫Ãø£ Á|üX¯ï\≈£î düe÷<ÛëqeTT\qT düe÷<Ûëq|üÁ‘·eTT˝À Áyêj·T+&ç. nìï+{Ïì π̌ø

Á|ü<̊X̄eTT˝À Áyêj·T+&ç.

I. øÏ+~ Á|üX̄ï\≈£î düe÷<Ûëq$TeTTà. Á|ü‹ »yêãT≈£î 1 e÷s¡Tÿ.

1. Á‹uÛÑT»+ ABC ˝À 1    2
AD AE

AB AC
= =  nj̊T´≥T¢>± AB, AC \ô|’ _+<äTe⁄\T D eT]j·TT

E >± >∑T]Ô+#·ã&Ü¶sTT.  Bìì |ü≥s¡÷|ü+˝À #·÷|ü+&ç.  (ÁbÕ‹ì<Ûä́ |üs¡#·&É+)

2. ˇø£ eè‘·Ô+ jÓTTø£ÿ u≤Vü≤´_+<äTe⁄ qT+&ç eè‘êÔìøÏ mìï düŒs¡ÙπsK\T ^j·Te#·TÃ.  MT yê<äqqT

düeT]ú+#·+&ç. (ø±.ì)

3. uÛÑ÷ yê´kÕs¡ú+ 10.5 MT≥s¡T¢ eT]j·TT m‘·TÔ 4 MT≥s¡T¢>± >∑\ X̄+KTe⁄ Äø±s¡+˝Àì >∑T&Üsêìï

ẙj·T&ÜìøÏ mìï MT≥s¡¢ ã≥º ø±yê*. (dü.kÕ.)

4. Cos 6o eT]j·TT Cos 60o \ $\Te\˝À @~ ô|<ä›~ ? m˝≤ #Ó|üŒ>∑\e⁄ ? (ø±.ì)

5. ˇø£ Bs¡È#·‘·Ts¡ÁkÕø±s¡ ø±–‘·+ jÓTTø£ÿ bı&Ée⁄, yÓ&É\TŒ\T 3  : 1 ˝À ñHêïsTT. <ëì ø£s¡íeTT,

bı&Ée⁄‘√ #̊j·TT ø√DyÓT+‘· ? (dü.kÕ.)

6. ˇø£ bÕ∫ø£qT ˇø£kÕ] <=]¢+#·>± Á|ü<Ûëqdü+K´ e#·TÃ dü+uÛ≤e´‘· m+‘· ? (dü.kÕ.)

7. ˇø£ ÄeØZø£è‘· <ä‘êÔ+X̄+ jÓTTø£ÿ eT<Ûä́ >∑‘·+ ø£qTø=ÿH̊ |ü<äΔ‹ì ‘Ó\TŒeTT. (e´.|ü.)

II. øÏ+~ Á|üX̄ï\ìï+{ÏøÏ düe÷<Ûëq$TeTTà. Á|ü‹ Á|üX̄ï≈£î 2 e÷s¡Tÿ\T.

8. B e<ä› \+ãø√DeTTqï ΔABC ˝À BD AC⊥  eT]j·TT DE BC⊥  \T ^j·Tã&çHêsTT.

 = 
AC AB

BC BE
 nì düø±s¡D+>± ìs¡÷|æ+#·+&ç. (ø±.ì.)

9. eè‘·Ô+ô|’ ˇø£ _+<äTe⁄>± ^dæq πsK, Ä _+<äTe⁄≈£î ^dæq yê´kÕsêúìøÏ \+ã+>± ñqï#√ Ä πsK

eè‘êÔìøÏ düŒs¡ÙπsK ne⁄‘·T+<äì #·÷|ü⁄eTT. (ø±.ì.)



144 ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○

 ñbÕ<Ûë´j·TT\ ø£s¡B|æø£ ̀  10e ‘·s¡>∑‹ ̀  >∑DÏ‘·+

10. ˇø£ dü÷ú|ü+ eT]j·TT ˇø£ X̄+KTe⁄ jÓTTø£ÿ m‘·TÔ\T düe÷q+>± ñ+&ç X̄+KTe⁄ jÓTTø£ÿ m‘·TÔ, dü÷ú|ü+

m‘·TÔ≈£î ¬s{Ïº+ô|’q yê{Ï |òüTq|ü]e÷D≤\ ìwüŒ‹Ôì ø£qT>=qTeTT. (dü.kÕ.)

11. Sec θ + tan θ = l  nsTTq Sin θ  $\TeqT lo ˝À ‘Ó\TŒeTT. (dü.kÕ.)

12. ˇø£ HêD…eTTqT 4 kÕs¡T¢ m>∑Ts¡ẙdæq, ˇø£ÿkÕ] ≈£L&Ü u§eTàsêì dü+uÛ≤e´‘· m+‘· ?  (dü.kÕ.)

13. øÏ+~ düe÷#êsêìøÏ >∑DÏ‘· bÂq'|ü⁄D´ πsU≤∫Á‘·+ (ˇõyé) eÁø±ìï ^j·TTeTT. (ÁbÕ.|ü.)

ej·TdüT‡\ n+‘·s¡+ 0`5 5`10 10`15 15`20 20`25 25`30

eTqTwüß\ dü+K´ 2 5 11 15 10 3

III. øÏ+~ Á|üX̄ï\ìï+{ÏøÏ »yêãT\T sêj·TTeTT. Á|ü‹ Á|üX̄ï≈£î 4 e÷s¡Tÿ\T.

14(a) AB = 4 cm, BC = 4.5 cm, CA = 5 cm Á‹uÛÑTC≤ìï ì]à+∫, <ëì nqTs¡÷|ü uÛÑTC≤\˝À

2/3 e+‘·T e⁄+&̊≥≥T¢ eTs√ Á‹uÛÑTC≤ìï ì]à+#·+&ç. (ÁbÕ.|ü.)

˝Ò<ë

  (b) 4 ôd+.MT. yê´kÕs¡ú+ >∑\ eè‘êÔìï ^dæ πø+Á<ä+ qT+&ç 7 ôd+.MT. <ä÷s¡+˝À >∑\ _+<äTe⁄qT+&ç

düŒs¡ÙπsK\qT ^j·T+&ç. (ÁbÕ.|ü.)

15(a) ˇø£ ˙{Ï {≤´+≈£î ¬s+&ÉT ∫es¡\T ns¡ú >√fi≤ø±s¡eTT>± ñ+&ç eT<Ûä́ ˝À dü÷ú|ü+ e …̋ ñ+~. ns¡ú>√fī

yê´dü+ 3.5 ôd+.MT. <ëì eT<Ûä́ ˝À ˇø£ ∫es¡ qT+&ç eTs=ø£ ∫es¡ es¡≈£î ñqï nø£å+ bı&Ée⁄

11 MT≥\s¡T¢. <ëì˝À mìï ©≥s¡¢ ˙fīófl|ü&É‘êsTT? (n.dü+.)

˝Ò<ë

  (b) uÛÑ÷yê´kÕs¡ú+, m‘·TÔ\T 2 : 1 >± ñqï dü÷ú|ü+ô|’, n+‘̊ uÛÑ÷yê´kÕs¡ú+ >∑\ X̄+KTe⁄ ñ+&̊≥≥T¢ ˇø£

>∑T&Üsêìï ì]à+#ê*. dü÷ú|ü+, X̄+KTe⁄\ m‘·TÔ\T düe÷q+ uÛÑ÷yê´kÕs¡ú+ 7 ôd+.MT. ñ+&̊≥≥T¢

>∑T&Üsêìï ì]à+#·&ÜìøÏ m+‘· >∑T&É¶ ø±yê*? (n.dü+.)

16(a) ˇø£ uÛÑeq+ jÓTTø£ÿ π̌ø yÓ’|ü⁄q ì\ã&ç ñqï Ç<ä›s¡T e´≈£îÔ\T <ëì ô|’uÛ≤>±ìï 30
+
 eT]j·TT 60

+

}s¡úø√D+‘√ >∑eTìdüTÔHêïs¡T.  uÛÑeq+ m‘·TÔ 60 MT≥s¡T¢ nsTTq yê]<ä›] eT<Ûä́  <ä÷s¡+ m+‘·?

(dü.kÕ.)

˝Ò<ë

  (b) uÛÑ÷$TqT+&ç 5 MT≥s¡¢ m‘·TÔ̋ À ñqï ôVA≥ Ÿ̋ øÏ{Ïø°qT+&ç >∑eTì+∫q ˇø£ ≥esY ô|’uÛ≤>∑+ 60
+

}s¡ú«ø√D+ eT]j·TT øÏ+~uÛ≤>∑+ 45
+
 ìeTïø√D+ #̊dæq ≥esY m‘·TÔqT ø£qT>=qTeTT. (dü.kÕ.)
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17(a) ˇø£ |ü<äe ‘·s¡>∑‹ $<ë´s¡Tú\ >∑DÏ‘·+˝À bı+~q e÷s¡Tÿ\ $esê\T øÏ+~ |ü{Ïºø£̋ À Çe«ã&çHêsTT.

ˇø£ ˇõyé eÁø£+ ^j·T&É+ <ë«sê eT<Ûä́ >∑‘êìï ø£qT>=qTeTT. (dü.kÕ.)

e÷s¡Tÿ\ n+‘·s¡+ 5`10 10`15 15`20 20`25 25`30 30`35 35`40 40`45 45`50

$<ë´s¡Tú\ dü+K´ 2 4 6 7 10 9 5 4 3

˝Ò<ë

  (b) ˇø£ ø£¢ãT“˝À ñqï düuÛÑT´\ ej·TdüT‡\yê]>± $esê\T Ç˝≤ ñHêïsTT. ¬s+&ÉT ˇõ Ÿ̋ eÁø±\

Ä<Ûës¡+>± eT<Ûä́ >∑‘êìï ø£qTø√ÿ+&ç. (dü.kÕ.)

ej·TdüT‡\ n+‘·s¡+ 21`23 24`26 27`29 30`33 33`35 36`38 39`41

eTqTwüß\ dü+K´ 3 15 22 21 23 14 4

IV. øÏ+~ Á|üX̄ï\ìï+{ÏøÏ »yêãT\T nø£åsêìï Áu≤¬ø{Ÿ̋ À sêj·T+&ç. Á|ü‹ Á|üX̄ï≈£î 
1

2
 e÷s¡Tÿ.

18. ΔABC ˝Àì AB eT]j·TT AC uÛÑTC≤\ô|’ E eT]j·TT F _+<äTe⁄\T es¡Tdü>± ñHêïsTT.

AE R 4 ôd+.MT., EB R 4.5 ôd+.MT., AF R 8 ôd+.MT. eT]j·TT FC R 9 ôd+.MT. nsTTq

A) EF ⊥ BC B) EF ⊥ AB C) EF // BC D) EF ⊥ BC (ÁbÕ.|ü.) (      )

19. p : ˇø£ düeTu≤VüQÁ‹uÛÑT»+˝À Á|ü‹ø√D+ 60
+

q : ˇø£ düeTu≤VüQ Á‹uÛÑT»+˝À Á|ü‹ø√D+ 60
+
 ñ+&É<äT nsTTq (e´.|ü.) (      )

A) q ≅  p B) p ≅ ∼(∼q) C) ∼p ≅ q D) p = q

20. ΔABC ˝À D, E eT]j·TT F \T AB, BC eT]j·TT CA \ es¡Tdü>± eT<Ûä́ _+<äTe⁄\T. ΔABC

yÓ’̂ ˆ R 16 ôd+.MT.
2
 nsTTq ΔDEF = ............. (dü.kÕ.)      (      )

A) 4 Cm2 B) 16 Cm2 C) 64 Cm2 D) 32 Cm2

21. ¬s+&ÉT >√fi≤\ yê´kÕsêú\T 1 : 3 ˝À ñHêïsTT. nsTTq yê{Ï |òüTq|ü]e÷D≤\T (dü.kÕ.) (      )

A) 1 : 3 ˝À ñ+{≤sTT B) 3 : 1 ˝À ñ+{≤sTT

C) 3 : 6 ˝À ñ+{≤sTT D) 1 : 27 ˝À ñ+{≤sTT

22. ΔABC ˝À B e<ä› \+ãø√D+ ñqï#√ @ dü+ã+<Ûä+ dü‘·́ +? (ø±.ì.) (      )

A) Sin (90-A) = Sin C B) Cos (90-A) = Sin C

C) Cos (90-C) = Cos C D) Sin A = Sin C
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23. ˇø£ \+ãø√D Á‹uÛÑT»+˝À ˇø£ n\Œø√D+ A ≈£î Sin A = Cos A nsTTq (ø±.$.)   (      )

A) ∠A = 30o B) ∠A = 45o C) ∠A = 60o D) ∠A = 75o

24. uÛÑ÷$T‘√ 30
+
 ø√D+ #̊dü÷Ô 7 MT. bı&Ée⁄ >∑\ ø£f…º >√&É≈£î Äì+#·ã&ç+~. á <ä‘êÔ+X̄eTTqT

#·÷|ü⁄ |ü≥eTT      (      )

A) B) C) D)

25. ˇø£ j·÷<äè∫Ã¤ø£ Á|üjÓ÷>∑+ jÓTTø£ÿ |üs¡düŒs¡ e]®‘· eT]j·TT |üPs¡í|òüT≥q\ dü$T‹ì ...............

n+{≤s¡T.       (      )

A) |üPs¡ídü$T‹ B) Á|ü‹s¡÷|ü Äes¡DeTT

C) n‘·́ edüs¡ |òüT≥q D) @ dü$T‹ ñ+&É<äT.

26. ˇø£ |òüT≥q jÓTTø£ÿ dü+uÛ≤e´‘· m\¢|ü&É÷............ ñ+&ÉTqT. (      )

A) `1, 1 \ eT<Ûä́ B) 0 qT+&ç 1 es¡≈£î

C) 1 ø£Hêï m≈£îÿe D) `1 ø£Hêï ‘·≈£îÿe

27. ˇø£ <ä‘êÔ+X̄+˝À K∫Ã‘·+>± eT<Ûä́  $\TeqT ............... n+{≤s¡T. (      )

A) dü>∑≥T B) eT<Ûä́ >∑‘·+  C) u≤VüQfīø£+   D) n˝≤+{Ï $\Te ñ+&É<äT
) 7

)

7
)

7 7
)



○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ 147

 ñbÕ<Ûë´j·TT\ ø£s¡B|æø£ ̀  10e ‘·s¡>∑‹ ̀  >∑DÏ‘·+

Summative Assessment III - Model Paper
Mathematics

(English Version)

Time : 15 Min + 2 hr. 30 min.       Paper-II Max. Marks : 40

Instructions : 1. Read the whole question paper and understand every question thoroughly,

without writing any thing and 15 minutes of time is alloted for this.

2. Answer all the questions.

3. Write answers to the objective type questions on answer sheet, but at same

place.

I. Answer to all the following questions.  Each question carries 1 mark.

1. In ΔABC, D and E are points on AB & AC so that 1    2
AD AE

AB AC
= = . Represent

this data diagnamatically and label it. (Rep V)

2. How many tangents can be drawn to a circle from a point outside the circle ? Justify

your answer. (R & P)

3. How much cloth is required to set up a conical shaped tent with height 4 meters and

radius 10.5 meters. (PS)

4. Which has greater value among Cos 6o or Cos 60o ? Why ? (R & P)

5. Length and breadth of a rectangle paper are in the ratio 3 : 1.  Then what is the angle

made by its diagonal with its length. (PS)

6. Find the probability of getting a prime number when a die is rolled once. (PS)

7. Explain the procedure to find median of ungrouped data. (Com)

II. Answer all the questions.  Each question carries 2 marks.

8. In a right angle triangle ABC right angled at B, a line BD ⊥ AC is drawn and again

DE ⊥ BC is drawn.  Then prove that  = 
AC AB

BC BE
 with reasons. (R & P)

9. If a line drawn through a point on a circle is perpendicular to radius of the circle to that

point, then prove that it is tangent to the circle.  (R & P)
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10. If radius of a cylinder and a cone are equal and height of cone is double of that of

cylinder, then fidn the relation between their volumes in the form of a ratio. (PS)

11. If Sec θ + tan θ = l, then find value of Sin θ in terms of l. (PS)

12. If unbiased coin is tossed 4 times.  Then what is the probability of getting no head

anytime ?  (PS)

13. Draw a ogive curve for the following data (R & V)

Age intervale 0-5 5-10 10-15 15-20 20-25 25-30

No of persons 2 5 11 15 10 3

III. Answer all the questions.  Each question carries 4 marks.  There is internal choice

for each question.

14(a) Construct a triangle with sides AB = 4cm, BC = 4.5cm, CA = 5cm, and also construct

another triangle with 2/3 of corresponding sides of ΔABC (Rep & V)

(OR)

  (b) Draw a circle of radius 4cm and construct tangents from a point 7 cm away from centre

of the circle.  (Rep & V)

15(a) A cylindrical tank has two hemispheres at its two ends.  The length of axis at its centre

is 11m and radius of a hemisphere is 3.5 m.  Then find the capacity of the tank in litres.

(OR)

  (b) A conical shaped tent has to set up on a cylindrical tent with its radius of base and height

in the ratio 2 : 1.  The heights of cylinder and cone are equal and ratio are 7 cm.  Then

how much cloth is required to set up the tent. (Con)

16(a) Two men on the same side of a tall building notice the angle of elevation to the top of

the building to 30o and 60o respecting.  If the height of the building is known to be

h = 60m find the distance between the two men. (PS)

(OR)

  (b) A man is watching a tower from a window of the hotel at the height 5m.  The angle

of elevation of top of the tower is 60o and the angle of depression of foot of the tower

is 45o.  Find the height of the tower. (PS)
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17(a) The marks of students of x class in a mathematics exam are given here.  Find median

of the data by drawing a ogive curve. (PS)

Marks interval 5-10 10-15 15-20 20-25 25-30 30-35 35-40 40-45 45-50

No of students 2 4 6 7 10 9 5 4 3

(OR)

  (b) The information of membersof a club with their ages are given here.  Find median of

the members ages by drawing two ogive curves. (PS)

Ages interval 21-23 24-26 27-29 30-32 33-35 36-38 39-41

No of members 3 13 22 21 23 14 4

IV. Write correct choice of the answer in the corresponding bracket.  Each answer carries

1

2
 mark.

18. In ΔABC the points E and F are on the sides AB and AC respectively.  If AE = 4cm,

EB = 4.5 cm, AF = 8 cm and FC = 9 cm, then   (Rep & V) (      )

A) EF ⊥ BC B) EF ⊥ AB C) EF // BC D) EF ⊥ BC

19. p : Every angle in an equilateral triangle in 60o

q : Every angle in an equilateral triangle is not 60o then  (Con) (      )

A) q ≅  p B) p ≅ ∼(∼q) C) ∼p ≅ q D) p = q

20. In a ΔABC are D, E and F are mid points of AB, BC and CA respectively.  If ΔABC

= 16 cm2 than are ΔDEF = ................. then  (PS)       (      )

A) 4 Cm2 B) 16 Cm2 C) 64 Cm2 D) 32 Cm2

21. If the radius of two sphere are in the ratio 1 : 3, then their volumes are in the ratio (PS)

A) 1 : 3 B) 3 : 1 C) 3 : 6 D) 1 : 27 (      )

22. In a right angle ΔABC right angled at B, then the relation exist (R & P) (      )

A) Sin (90-A) = Sin C B) Cos (90-A) = Sin C

C) Cos (90-C) = Cos C D) Sin A = Sin C
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23. For an acute angle A, Sin A = Cos A then  (R & P) (      )

A) ∠A = 30o B) ∠A = 45o C) ∠A = 60o D) ∠A = 75o

24. A stick of 7 m is leaning with a wall by making 30o angle with the ground.  Then the

diagram representing the data is (Rep & V)       (      )

A) B) C) D)

25. The set of total mutually exclusive and exhaustive events of a random experiment is

called   (R & P)      (      )

A) Complete set B) Sample space

C) Compulsory Event D) No set occurs

26. The probability of an event is always lie (Com)      (      )

A) in between -1 and 1 B) From 0 to 1

C) more than 1 D) less than -1

27. The middle most value of data is called  (R & P)      (      )

A) Mean B) Median C) Mode D) No value exists

) 7

)

7
)

7 7
)
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>∑DÏ‘·+ ` ù||üsỲ II ` ã÷¢ Á|æ+{Ÿ

uÛ≤s¡‘·«+ Essay Short answer Very short Multiple
kÕeTsêú́ \T answer questions answer choice

questions (2) questions questions
(4) (4)

düeTkÕ´ kÕ<Ûäq 40% 2(8) 2(4) 3(3) 2(1)

ø±s¡D≤\T #Ó|ü≥ ` 20% ` 2(4) 2(2) 4(2)

ìs¡÷|æ+#·T≥

e´ø£Ô|üs¡#·T≥ 10% ` 1(2) 2(2) 4(2)

nqTdü+<Ûëq+ #̊j·TT≥ 15% 1(4) 1(2) ` `

ÁbÕ‹ì<Ûä́ |üs¡#·T≥ ` 15% 1(4) ` ` `

<äèoø£]+#·T≥

eTs=ø£ qeT÷Hê Á|üXÊï|üÁ‘·+qT ‘·j·÷s¡T#̊j·TT≥≈£î øÏ+~ ã÷¢Á|æ+≥T\qT |ü]o*<ë›+.

ô|’¬s+&ÉT ã÷¢ Á|æ+≥T\qT |ü]o*+#ês¡T>±, á uÛ≤s¡‘·«+‘√ ≈£L&çq Á|üXÊï|üÁ‘ê\qT |ü]o*<ë›+.

>∑DÏ‘·+ ` ù||üsỲ I ` ã÷¢ Á|æ+{Ÿ

uÛ≤s¡‘·«+ Essay Short answer Very short Multiple
kÕeTsêú́ \T answer questions answer choice

questions (2) questions questions
(4) (4)

düeTkÕ´ kÕ<Ûäq 40% 2(8) 2(4) 3(3) 2(1)

ø±s¡D≤\T #Ó|ü≥ ` 20% ` 2(4) 2(2) 4(2)

ìs¡÷|æ+#·T≥

e´ø£Ô|üs¡#·T≥ 10% ` ` 2(1) 4(2)

nqTdü+<Ûëq+ #̊j·TT≥ 15% 1(4) 1(2) ` `

ÁbÕ‹ì<Ûä́ |üs¡#·T≥ ` 15% 1(4) 1(2) ` `

<äèoø£]+#·T≥
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dü+Á>∑Vü≤D≤‘·àø£ eT÷˝≤´+ø£q+ qeT÷Hê Á|üXÊï|üÁ‘·+

>∑DÏ‘·eTT

(‘Ó\T>∑T e÷<Ûä́ eTeTT)

düeTj·T+ : 15 ì G 2 >∑+.30 ì     ù||üsỲ I        >∑]wüº e÷s¡Tÿ\T : 40

dü÷#·q\T : 1. yÓTT<ä{Ï 15 ìˆˆ\˝À Á|üXÊï|üÁ‘·eTTqT |üP]Ô>± #·~$ ne>±Vü≤q #̊düTø√+&ç.

2. nìï Á|üX̄ï\≈£î düe÷<Ûëq+ Áyêj·T+&ç.

3. ãVüQfiË’∫Ãø£ Á|üX¯ï\≈£î düe÷<ÛëqeTT\qT düe÷<Ûëq|üÁ‘·eTT˝À Áyêj·T+&ç. nìï+{Ïì π̌ø

Á|ü<̊X̄eTT˝À Áyêj·T+&ç.

I. Á|ü‹ Á|üX̄ï≈£î düe÷<ÛëHê\T sêj·TTeTT. Á|ü‹ Á|üX̄ï≈£î 1 e÷s¡Tÿ.

1. A(-1, 2); B(0, 3); C(-2, 4); \#̊ @s¡Œ&ÉT Á‹uÛÑT»+ jÓTTø£ÿ >∑Ts¡T‘·« πø+Á<ëìï ø£qT>=qTeTT. (1 e÷s¡Tÿ)

(dü.kÕ.)

2. X-nøå±ìøÏ düe÷+‘·s¡+>± ñqï ˇø£ düs¡fīπsKô|’ ¬s+&ÉT _+<äTe⁄\ eT<Ûä́  <ä÷sêìï @$<Ûä+>± ø£qT>=+{≤s√

düø±s¡D+>± ‘Ó\|ü+&ç? (ø±, ì)   (1 e÷s¡Tÿ)

3. P(-2, 3), Q(x, 6) \qT ø£\T|ü⁄ πsU≤K++ yê\T `1 nsTTq x $\Te m+‘·? (dü.kÕ.) (1 e÷s¡Tÿ)

4. log
3
 243 qT dü÷ø°åàø£]+#·+&ç? (e´.|ü.) (1 e÷s¡Tÿ)

5. 3x2 - 2x + 16 = 0 es¡Z düMTø£s¡D+ jÓTTø£ÿ eT÷˝≤\ dü«uÛ≤yêìï ‘Ó\|ü+&ç. (e´.|ü.)    (1 e÷s¡Tÿ)

6. -7, 1, 2 X̄SHê´\T>± >∑\ |òüTqãVüQ|ü~ì ø£qT>=qTeTT. (dü.kÕ.)   (1 e÷s¡Tÿ)

7. x+2, x+4, x+9 \T n+ø£ÁX‚DÏ̋ À ñ+&̊ neø±X̄+ ñ+<ë? ø±s¡D+ ‘Ó\Œ+&ç? (ø±.ì)  (1 e÷s¡Tÿ)

II. nìï Á|üX̄ï\≈£î düe÷<ÛëHê\T sêj·TTeTT. Á|ü‹ Á|üX̄ï≈£î 2 e÷s¡Tÿ\T.

8. 7 #̊ uÛ≤–+|üã&ÉT ¬s+&É+¬ø\ dü+K´\T mìï ø£\e⁄? (n.dü+.) (2 e÷s¡Tÿ\T)

9. 2 3  nqTq~ ø£s¡D°j·T dü+K´ nì #·÷|ü⁄eTT. (ø±.ì) (2 e÷s¡Tÿ\T)

10. dü$T‘·T\T A = {1, 3, 6, 9}, B = {1, 2, 3, 4, 5, 6} \T nsTTq A∪ B eT]j·TT A - B \qT yÓHé

∫Á‘ê\T>± #·÷|ü+&ç. (ÁbÕ.|ü) (2 e÷s¡Tÿ\T)

11. 2 jÓTTø£ÿ >∑TDÏC≤\ dü$T‹ eT]j·TT 3 jÓTTø£ÿ >∑TDÏC≤\ dü$T‹ $j·TTø£Ô dü$T‘·T\e⁄‘êj·÷? ø±s¡D≤\‘√

$e]+#·+&ç.  (ø±.ì) (2 e÷s¡Tÿ\T)

12. A(3, 2); B(-1, 2) _+<äTe⁄\qT ø£\T|ü⁄ πsU≤K+&Üìï y`nø£å+ @ ìwüŒ‹Ô̋ À $uÛÑõdüTÔ+~. (2 e÷s¡Tÿ\T)

(dü.kÕ.)
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13. A(2, 1); B(4, 3); C(-1, 3); D(-3, 1) \#̊ @s¡Œ&ÉT #·‘·Ts¡T“¤» yÓ’XÊ\´+ m+‘·? (dü.kÕ.)

III. Á|ü‹ Á|üX̄ï≈£î »yêãT sêj·TTeTT. Á|ü‹ Á|üX̄ï≈£î 4 e÷s¡Tÿ.

14(a) ˇø£ Bs¡È#·‘·Ts¡ÁkÕø±s¡|ü⁄ πs≈£î bı&Ée⁄, yÓ&É\TŒ\T ìwüŒ‹Ô 7 : 5 ˝À ñHêïsTT. yê{Ï eT÷˝≤\qT+&ç

3 ôd+.MT. I 3 ôd+.MT. #·<äsê\qT ø£‹Ô]+∫ rdæẙj·T>± @s¡Œ&çq Bs¡È|òüTHêø±s¡|ü⁄ |òüTq|ü]e÷D+

96 |òüT.ôd+.MT. nsTTq eTT+<äT rdüT≈£îqï Ä Bs¡È#·‘·Ts¡ÁkÕø±s¡|ü⁄ πs≈£î yÓ’XÊ\´yÓT+‘·? (n.dü+.)(4 e÷s¡Tÿ\T)

(˝Ò<ë)

  (b) ˇø£ 96 n&ÉT>∑T\ uÛÑeq+ô|’qT+&ç 116 n&ÉT>∑T\T/ôdø£qT ẙ>∑+‘√ ˇø£ sêsTTì ì≥ºì\Te⁄>± ô|’øÏ

$dæs¡ẙj·Tã&çq~. >∑Ts¡T‘·«‘·«s¡D+ 32 n&ÉT>∑T\T/ôdø£qT
2
 nsTTq mìï ôdø£qT\ ‘·sê«‘· Ä edüTÔe⁄ uÛÑ÷$Tì

#̊s¡TqT?  (n.dü+.)

15(a) s¡eT ˇø£ eTT>∑TZẙùd≥|ü⁄&ÉT øÏ+<ä #·÷|æq $<Ûä+>± 256 #·Tø£ÿ\qT ẙdæ+~.  nsTT‘̊ s¡eT Ä #·Tø£ÿ\qT

mìï es¡Tdü\˝À ẙdæ+~. (dü.kÕ.) (4 e÷s¡Tÿ\T)

(˝Ò<ë)

  (b) ˇø£ πø+Á<äø£ $∫Ã¤‹Ô #·s¡́ ˝À ˇø£ U235 $∫Ã¤qïeTsTT|ü⁄&ÉT 3 q÷Á{≤qT¢ eT]j·TT 200 Mev X̄øÏÔ

$&ÉT<ä\e⁄‘·T+~.  eT∞fl Ä 3 q÷´Á{≤qT¢ eT÷&ÉT U235 #=|üq $∫Ã¤qï+ #̊kÕÔsTT. á$<Ûä+>± 10

kÕúsTT\˝À $#·Ã¤qï+ »]–q yÓTT‘·Ô+ m+‘· X̄øÏÔ $&ÉT<ä\e⁄‘·T+~? (dü.kÕ.)

16(a) P(x)  =  x2 - 12x + 35 q≈£î Á>±|òü⁄qT ^dæ ãVüQ|ü~X̄SHê´\qT >∑T]Ô+#·+&ç. (ÁbÕ.dü.) (4 e÷s¡Tÿ\T)

(˝Ò<ë)

  (b) 3 jÓTTø£ÿ ¬s+&ÉT es¡Tdü >∑TDÏC≤\ \ãΔ+ 81.  á düe÷#êsêìøÏ dü+ã+~Û+∫ 'x' \˝À es¡ZdüMTø£s¡D≤ìï

s¡÷bı+~+∫ <ëìì Á>±|òü⁄ô|’ #·÷|ü⁄eTT. (ÁbÕ.dü.)

17(a)
1 2 1

    =  
2 2 15x y x y

+
+ − (4 e÷s¡Tÿ\T)

1 1 8
    =  

3( 2 ) 3( 2 ) 45x y x y

−−
+ −  \qT kÕ~Û+#·+&ç. (dü.kÕ.)

(˝Ò<ë)
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  (b) π̌ø |üì‘·q+‘√ ◊<äT>∑Ts¡T Ád”Ô\T eT]j·TT eTT>∑TZs¡T |ü⁄s¡Twüß\T ø£*dæ ˇø£ |üìì 6 s√E\˝À |üP]Ô#̊j·T>∑\s¡T.

n<̊|üìì eTT>∑TZs¡T |ü⁄s¡Twüß\T, eTT>∑TZs¡T Ád”Ô\T 9 s√E\˝À |üP]Ô#̊j·T>∑\s¡T. nsTTq ˇø£ |ü⁄s¡Twüß&ÉT Ò̋<ë

ˇø£ Ád”Ô n<̊ |üìì mìï s√E\˝À |üP]Ô#̊j·TT<äTs¡T. (dü.kÕ.)

IV. Á|ü‹ Á|üX̄ï≈£î düe÷<ÛëHê\T Áu≤¬ø{Ÿ̋ À Áyêj·TTeTT. Á|ü‹ Á|üX̄ï≈£î 
1
2
 e÷s¡Tÿ.

18.
1

400
 qT <äXÊ+X̄ s¡÷|ü+˝À ‘Ó\T|ü>±  (e´.|ü.) [       ]

A) 0.25 B) 0.025 C) 0.0025 D) 0.00025

19. A = {1, 2, 3, 4, 5, 6}; B = {2, 4, 6} nsTTq  (e´.|ü.) [       ]

A) B∈A B) A∈B C) B ⊂ A D) A ⊂ B [       ]

20. ˇø£ |òüTq ãVüQ|ü~˝À x |ü<ä+ Ò̋ø£b˛‘̊ (ø±.ì.) [       ]

A) α + β + γ  = 0 B) αβ + βγ + γα = 0

C) αβγ = 0 D) n˝≤ kÕ<Ûä́ + ø±<äT

21. 2x - 5y = 17 eT]j·TT 4x - 10y = 8 düMTø£s¡D≤\T (ø±.ì.)      [       ]

A) dü+>∑‘· düMTø£s¡D≤\T B) ndü+>∑‘· düMTø£s¡D≤\T

C) düe÷q düMTø£s¡D≤\T D) ô|’ẙM ø±e⁄

22. ¬s+&ÉT es¡Tdü düVü≤» dü+K´\ \ãΔ+ 56.  á düe÷#êsêìï dü÷∫+#̊ es¡Z düMTø£s¡D+ (e´.|ü.) [       ]

A)  x2 + x - 56 = 0 B)  x2 - x + 56 = 0

C)  x2 + x + 56 = 0 D) x2 - x - 56 = 0

23. ¬s+&ÉT _+<äTe⁄\˝Àì x ìs¡÷|üø±\T ª+μ nsTTq Ä ¬s+&ÉT _+<äTe⁄\#̊ @s¡Œ&ÉT πsU≤K+&É+ yê\T (ø±.ì.)

A) 0 B) 1 C) -1 D) ìs¡«#·q+ Ò̋<äT     [       ]

24. 1, -2, 4, -8 ...... nH̊~ (dü.kÕ.)     [       ]

A) n+ø£ÁX‚DÏ B) >∑TDÁX‚DÏ C) ¬s+&É÷ D) M{Ï̋ À @Bø±<äT

25. dü$T‹ A = {x : x∈n, x ≤  0} nsTTq (e´.|ü.)  [       ]

A) A = {0} B) A = 0 C) A = {φ}     D) A = φ

26. αx2 + βx + γ = 0 jÓTTø£ÿ $#·øÏåDÏ (dü.kÕ.)  [       ]

A) b2 - 4ac B) 2 4b ac− C) β2 - 4αγ     D) β2 + 4αγ

27. ¬s+&ÉT #·s¡sêX̄ó\T ø£*–q ¬s+&ÉT πsFj·T düMTø£s¡D≤\˝Àì kÕ<äèX̄´ >∑TD+ø±\T eT]j·TT dæúsê+ø±\ ìwüŒ‹Ô

düe÷q+ nsTT‘̊ Ä düMTø£s¡D≤\qT dü÷∫+#·T πsK\T (ø±.ì.)     [       ]

A) K+&Éq πsK\T B) @ø°uÛÑ$+#̊ πsK\T C) düe÷+‘·s¡πsK\T     D) ô|’ẙM ø±e⁄
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Summative Assessment III - Model Paper
Mathematics

(English Version)

Time : 15 Min + 2 hr. 30 min.       Paper-I Max. Marks : 40

Instructions : 1. Read the whole question paper and understand every question thoroughly,

without writing any thing and 15 minutes of time is alloted for this.

2. Answer all the questions.

3. Write answers to the objective type questions on answer sheet, but at same

place.

I. Answer every question.  Each question carries one mark.

1. Find centroid of the triangle formed by A(-1, 2), B(0, 3), C(-2, 4) (P.S.)

2. How do you find the distance between two points on the line parallel to x-axis.

Explain. (R & P)

3. If the slope of linesegment joining P(-2, 3), Q(x, 6) is -1, then find x. (P.S.)

4. Simplify log
9
243.   (Com)

5. Explain the nature of roots of 3x2 - 2x + 16 = 0 with reasons. (Com)

6. Find cubic polynomial with the zero values  -7, 1, 2.  (P.S.)

7. Can x+2, x+4 and x+9 be in A.P. Justify your answer.  (R & P)

II. Answer every question.  Each question carries 2 marks.

8. How many two digit numbers are divisible by 7 ? (Com)

9. Show that 2 3  is irrational number.  (R & P)

10. If  A  = {1, 3, 6, 9}, B = {1, 2, 3, 4, 5, 6} then show A ∪ B and A-B as Venn diagrams.

(Rep & V)

11. Are sets of multiples of 3 and muliples of 2 disjoint sets. Justify your answer ? (R & P)

12. Find the ratio in which y-axis devides the line segments joining the points A(3, 2),

B(-1, 2).  (P.S.)

13. Find the area of quadrillateral formed by the points A(2, 1), B(4, 3), C(-1, 3),

D(-3, 1) (P.S.)
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III. Answer every question.  Each question carries 4 mark.

14(a) The length and breadth of a rectangular metal sheet are in the ratio 7 : 5.  Four

3cm I 3cm squares have been separated from the cornersof that rectangle and it has

been moulded into a cuboid of 96 cm3 of valume.  Find the area of the rectangular metal

sheet take in the begining. (Connection)

(OR)

  (b) A stone is thrown vertically upwards from a building of 96 ft hight with a initial velocity

of 116 ft/sec.  If the accellaration due to gravity is 32 ft/sec2, then after how many

seconds the stone will reach the ground.  (Connection)

15(a) Rama has arranged 256 dots to draw a rangoli in the following ways.  In how many

rows has she arrange the dots.  (P.S.)

(OR)

  (b) In a nuclear fusion reaction a U235 Nuclous will split two lighter nuclear creates 3

Nutrons and 200 MeV of energy.  These three Nutrons will again split three U235

Nucleas.  Find the energy released if this process continuous for 10 stages.  (P.S.)

16(a) Draw the graph of p(x) = x2 - 12x + 35 and fidn the zeroes of the polynomial of it.

(OR)

  (b) The product of two consequetive multiples of 3 is 81.  Form a quadratic equation and

by using this information draw its graph. (Rep & V)

17(a) Solve  
1 2 1

 +  = 
15x y x y+ −

1 1 8
 -  = 

3( 2 ) 3( 2 45x y x y

−
+ −  (P.S.)

(OR)

  (b) 5 women and 3 men having same capacity can complete a work in 6 days.  And 3 men,

3 women of same capacity together complete the same work in 9 days, then in how

many days a women or a man can complete the work. (P.S.)
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IV. Choose the wright answer, and write the correct answer in the brackets.

18. The decimal form of 
1

400
 is   (Comm) (      )

A) 0.25 B) 0.025 C) 0.0025 D) 0.00025

19. A = {1, 2, 3, 4, 5, 6}, B = {2, 4, 6} then  (Comm) (      )

A) B ∈  A B) A ∈  B C) B ⊂  A D) A ⊂  B

20. If there is no x term in a cubic polynomial then (R & P) (      )

A) α+β+γ = 0 B) αβ+βγ+αγ = 0 C) α+β+γ = 0 D) Not possible

21. If 2x - 5y = 17 and 4x - 10y = 8 then these equation are (R & P) (      )

A) Consistant B) Inconsistant C) Equal D) none of the above

22. The product of two consequitive numbers is 56.  Then quadatic equation formed by

this is  (Comm) (      )

A) x2 + x - 56 = 0 B) x2 - x + 56 = 0

C) x2 + x + 56 = 0 D) x2 - x - 56 = 0

23. If x-coordinates of two points are zero.  Then slope of the line segment joined by these

two points is  (R & P)       (      )

A) 0 B) 1 C) -1 D) not defined

24. 1, -2, 4, -8, ............. is  (P.S.) (      )

A) AP B) GP C) Both D) None of these

25. A = {x : x ∈  N;  x ≤  0} then  (Comm) (      )

A) A = {0} B) A = 0 C) A = {φ} D) A = φ

26. Discriminant of  αx2 + βx + γ = 0  (P.S.) (      )

A) b2 - 4ac B) 2 4b ac− C) β2 - 4αγ D) β2 + 4αγ

27. The ratios of corresponding co-efficients and constants in 2 two variable linear equations

are equal.  Then the equations show the lines  (R & P)      (      )

A) Inter-secting lines B) Coinsiding lines

C) Parallel lines D) none of the above
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dü+Á>∑Vü≤D≤‘·àø£ eT÷˝≤´+ø£q+ qeT÷Hê Á|üXÊï|üÁ‘·+

>∑DÏ‘·eTT

(‘Ó\T>∑T e÷<Ûä́ eTeTT)

düeTj·T+ : 15 ì G 2 >∑+.30 ì     ù||üsỲ II        >∑]wüº e÷s¡Tÿ\T : 40

(düs¡÷|ü Á‹uÛÑTC≤\T, eè‘êÔìøÏ düŒs¡ÙπsK\T, #Û̊<äqπsK\T, πøåÁ‘·$T‹, Á‹ø√D$T‹, Á‹ø√D$T‹ nqTes¡ÔqeTT\T,

dü+uÛ≤e´‘·, kÕ+K´ø£XÊÁdüÔ+)

dü÷#·q\T : 1. Á|üXÊï|ü‘·ÁeTTqT ≈£åîDíeTT>± #·~$ ne>±Vü≤q #˚düTø√yê*. BìøÏ 15 ìeTTcÕ\T

πø{≤sTT+#·ã&çq~.

2. nìï Á|üX̄ï\≈£î »yêãT\T sêj·T+&ç.

3. \øå±´‘·àø£ Á|üX̄ï\T düe÷<ÛëqeTT\T ≈£L&Ü »yêãT |üÁ‘·eTT˝ÀH̊ sêj·T+&ç.

4. Ç∫Ãq »yêãT |üÁ‘·eTT˝ÀH̊ nìï Á|üX̄ï\≈£î düe÷<ÛëqeTT\T sêj·÷*. n<äq|ü⁄ »yêãT

|üÁ‘·eTT Çe«ã&É<äT.

I. nìï Á|üX̄ï\≈£î düe÷<ÛëqeTT\T sêj·÷*. Á|ü‹ Á|üX̄ï≈£î 1 e÷s¡Tÿ πø{≤sTT+#·ã&çq~.  7I1 R 7 e÷s¡Tÿ\T

1. eØZø£è‘· <ä‘êÔ+XÊìøÏ eT<Ûä́ >∑‘êìï ø£qT>=qT dü÷Á‘·eTTqT ‘Ó*|æ n+<äT˝À |ü<ë\T n+fÒ @$T{À

‘Ó\|ü+&ç. (e´.|ü.)

2. ˇø£ ‘·s¡>∑‹ $<ë´s¡Tú\ Äs√>∑́  |üØø£å\ düe÷#ês¡eTT ÁøÏ+<ä Çe«ã&ç+~.

s¡ø£Ô|ü⁄ qeT÷Hê Á>∑÷|ü⁄ A AB B O

$<ë´s¡Tú\ dü+K´ 10 13 12 5

j·÷<äè∫Ã¤ø£eTT>± ˇø£ $<ë´]úì m+|æø£#̊ùdÔ, m+|æø£sTTq $<ë´]ú 'B' Á>∑÷|ü⁄ s¡ø£ÔeTTqT ø£*Zj·TT+&É{≤ìøÏ

>∑\ dü+uÛ≤e´‘· m+‘·? (dü.kÕ.)

3. ˇø£ Á‹uÛÑT»+˝Àì ¬s+&ÉT uÛÑTC≤\ eT<Ûä́  _+<äTe⁄qT ø£\T|ü⁄ πsK≈£î eT÷&Ée uÛÑTC≤ìøÏ >∑\ dü+ã+<ÛäẙT$T?

m˝≤ #Ó|üŒ>∑\e⁄ ? (ø±.ì.)

4. X̄+KTe⁄, ns¡Δ>√fīeTT, dü÷ú|üeTT π̌ø uÛÑ÷$T eT]j·TT düe÷q m‘·TÔ\qT ø£*Zj·TTHêïsTT. nsTTq yê{Ï

|òüTq|ü]e÷DeTT\ ìwüŒ‹Ô m+‘·? ˙jÓTTø£ÿ düe÷<ÛëqeTTq≈£î düùV≤‘·Tø£ $es¡D$TeTTà. (ø±.ì.)

5. tan θ, sec θ \˝À düs¡«düMTø£s¡DeTTqT ‘Ó\|ü+&ç. (e´.|ü.)

6. ˇø£ düú+uÛÑeTT jÓTTø£ÿ m‘·TÔq≈£î <ëìjÓTTø£ÿ ˙&É bı&Ée⁄ 3  ¬s≥T¢ ñqï≥¢sTT‘̊ }s¡ú«ø√DeTT m+‘·?

(dü.kÕ.)
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7. ª0μ eè‘·ÔeTT jÓTTø£ÿ πø+Á<äeTT, nsTTq#√ POS  $\Te

m+‘·? PS, PT \T u≤Vü≤´_+<äTe⁄qT+&ç eè‘·ÔeTTq≈£î

^j·Tã&çq düŒs¡ÙπsK\T.  (dü.kÕ.)

II. nìï Á|üX̄ï\≈£î düe÷<ÛëqeTT\T sêj·÷*. Á|ü‹ Á|üX̄ï≈£î 2 e÷s¡Tÿ\T. 6I2 R 12 e÷s¡Tÿ\T

8. øÏ+~ düe÷#êsêìøÏ Äs√Vü≤D dü+∫‘· bÂq'|ü⁄q´ |ü{Ïºø£qT ‘·j·÷s¡T#̊j·T+&ç. ˇø£ ø£+ô|˙˝Àì

ñ<√´>∑T\ J‘·uÛÑ‘ê´\T eT]j·TT yê] dü+K´ á$<Ûä+>± ñ+~. (e´.|ü.)

ñ<√´>∑T\ J‘·+ (ẙ\˝À¢) 5`10 10`15 15`20 20`25 25`30 30`35 35`40

ñ<√´>∑T\ dü+K´ 4 45 20 13 9 7 2

9. tan θ + sin θ = m,  tan θ - sin θ = n \qT ñ|üjÓ÷–+∫ m2 - n2 $\TeqT m, n \˝À ‘Ó\|ü+&ç.

(n.dü+.)

10. ˇø£ ©|ü⁄ dü+e‘·‡s¡eTT˝À 53 Ä~yês¡eTT\T e#̊Ã dü+uÛ≤e´‘· m+‘·? n<̊$<ÛäeTT>± 54 Ä~yês¡eTT\T

e#̊Ã dü+uÛ≤e´‘· m+‘·? düùV≤‘·Tø£eTT>± $e]+#·TeTT. (ø±.ì.)

11. 25 ôd+.MT. uÛÑT»eTT ø=\‘·\T>± >∑\ ˇø£ #·‘·Ts¡ÁdüeTTqT n2 düe÷q #·‘·Ts¡ÁkÕ\T>± $uÛÑõ+∫ Á|ü‹

∫qï #·‘·Ts¡ÁdüeTT˝À <ëì Hê\T>∑T uÛÑTC≤\qT ‘êπø≥≥T¢ eè‘êÔ\qT ^ùdÔ, Ç∫Ãq #·‘·Ts¡ÁdüeTT˝À sT÷

eè‘êÔ\#̊ Äe]+|üã&Éì ÁbÕ+‘· yÓ’XÊ\´eTTqT ø£qT>=qTeTT. (dü.kÕ.)

12. 3 ôd+.MT., 4 ôd+.MT. eT]j·TT 5 ôd+.MT. yê´kÕsêú\T ø£\–q |òüTq|ü⁄ >√fīeTT\qT ø£]–+∫

ô|<ä›|òüTq|ü⁄ >√fīeTT>± eT*ùdÔ <ëì yê´kÕs¡úeTT m+‘· ?  (dü.kÕ.)

13. ABC ˇø£ düeT~«u≤VüQ Á‹uÛÑT»eTT. Ç+<äT˝À AB = AC, D,

AC eT<ä́  _+<äTe⁄. eè‘·ÔeTTqT D düŒs¡Ù_+<äTe⁄>±, B >∑T+&Ü

b˛j̊T $<ÛäeTT>± AB qT P e<ä› K+&ç+#̊≥≥T¢ ^j·Tã&ç+~.

nsTTq AP = 
1
4

 AB nì #·÷|ü⁄eTT. (ø±.ì.)

III. Á|ü‹ Á|üX̄ï˝À n+‘·s¡Z‘· m+|æø£ Çe«ã&çq~. Á|ü‹ Á|üX̄ï≈£î 4 e÷s¡Tÿ\T. 4I4 R 16 e÷s¡Tÿ\T

14(a) ˇø£ Á‹uÛÑT» n+‘·s¡eTT˝À qTqï _+<äTe⁄>∑T+&Ü eT÷&ÉT uÛÑTC≤\≈£î

düe÷+‘·s¡eTT>± πsK\T ^j·Tã&Ü¶sTT. @s¡Œ&çq eT÷&ÉT ∫qï

Á‹uÛÑTC≤\ yÓ’XÊ\´eTT\T 4, 9, 16 j·T÷ì≥T¢ nsTT‘̊ Á‹uÛÑT»

yÓ’XÊ\´eTT m+‘·? (dü.kÕ.)
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˝Òø£

  (b) ª0μ πø+Á<äeTT>± >∑\ eè‘·ÔeTTq≈£î TA, TB

düŒs¡ÙπsK\T C≤´ AB nH̊~ To πsU≤K+&ÉeTTqT

'C' e<ä› K+&çdüTÔ+~.

2 2

1 1 1
 +  = 

36OA TA
 nsTTq AB $\TeqT

ø£qT>=q+&ç. (dü.kÕ.)

15(a) ˇø£ Á>±eTeTT˝Àì 100 eT+~ ¬s’‘·T\T bı\eTT\˝À ôV≤ø±ºs¡T ~>∑Tã&ç <Ûëq´eTT ÁøÏ+~ $uÛ≤»qeTT

q+<äT Çe«ã&ç+~.

<Ûëq´+ ~>∑Tã&ç (øÏ+{≤\˝À) 30`35 35`40 40`45 45`50 50`55 55`60

¬s’‘·T\ dü+K´ 4 6 1224 32 22

á <ä‘êÔ+X̄eTTq≈£î Äs√Vü≤q dü+∫ø£ bÂq'|ü⁄q´ eÁø£eTTqT ^j·TTeTT? (ÁbÕ.|ü.)

˝Òø£

  (b) 10 ôd+.MT. bı&Ée⁄ >∑\ πsU≤K+&ÉeTT AB  ^j·T+&ç. A πø+Á<äeTT>± 5 ôd+.MT. yê´kÕs¡úeTT‘√

ˇø£ eè‘·ÔeTT, B πø+Á<äeTT>± 3 ôd+.MT. yê´kÕs¡úeTT‘√ eTs=ø£ eè‘·ÔeTT ^j·T+&ç. ˇø£ eè‘·Ôπø+Á<äeTT

qT+&ç eTs=ø£ eè‘êÔìøÏ düŒs¡ÙπsK\T ^j·T+&ç.  (ÁbÕ.|ü.)

16(a) ˇø£ \+ãø√D Á‹uÛÑT»eTT jÓTTø£ÿ uÛÑ÷$T 6 ôd+.MT. eT]j·TT m‘·TÔ 8 ôd+.MT. <ëìì ø£s¡íeTT

yÓ+ã&ç ÁuÛÑeTDeTT #̊j·T>± @s¡Œ&̊ ~«X̄+KTe⁄ Äø±s¡eTT jÓTTø£ÿ |òüTq|ü]e÷DeTT ø£qT>=q+&ç.

(π R 3.14) (n.dü+.)

˝Òø£

  (b) 6 ôd+.MT. yê´kÕs¡úeTT >∑\ ˇø£ eè‘·ÔeTT˝À nH̊ Bs¡È#·‘·Ts¡ÁdüeTT

n+‘·]¢œ+#·ã&çq~. <ëì ø£s¡íeTT\T ª0μ nH̊ _+<äTe⁄ e<ä›

K+&ç+#·Tø=+fÒ @s¡Œ&çq 4 ø√DeTT\˝À ˇø£ ø√DeTT ªθμ nsTTq

Ä Bs¡È#·‘·Ts¡Ádü yÓ’XÊ\´eTTqT ªθμ \˝À ‘Ó\|ü+&ç. (n.dü+.)

17(a) ˇø£ #Ó≥Tº >±*øÏ $]–, $]–q ô|’uÛ≤>∑eTT uÛÑ÷$TøÏ 30
+
 \ ø√DeTT #̊dü÷Ô uÛÑ÷$Tô|’ |ü&çq~. #Ó≥Tº

n&ÉT>∑TuÛ≤>∑eTT qT+&ç ÁøÏ+<ä |ü&çq #Ó≥Tº ø=q <ä÷s¡eTT 20 MT≥s¡T¢ nsTTq #Ó≥Tº $s¡>∑ø£ eTT+<äT

Ä #Ó≥Tº m‘·TÔ m+‘·? (dü.kÕ.)
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˝Òø£

  (b) áÁøÏ+~ <ä‘êÔ+X̄eTTq≈£î n+ø£ >∑DÏ‘· dü>∑≥TqT ø£qT>=qTeTT. (dü.kÕ.)

e÷s¡Tÿ\T 0`9 10`19 20`29 30`39 40`49 50`59

$<ë´s¡Tú\ dü+K´ 3 8 14 21 9 5

IV. nìï Á|üX̄ï\≈£î düe÷<ÛëqeTT\T sêj·TTeTT. 10 I 
1

2
 = 5

18. ABP  ˇø£ Á‹uÛÑT»eTT. Bì˝À  = PAC ABC

n>∑Tq≥T¢ BP ô|’ C ˇø£ _+<äTe⁄ nsTTq PC.PB

<̊ìøÏ düe÷qeTT (e´.|ü.)

A) AP2 B)  AC2 C) AB2 D) BC2 [       ]

19. 13 sêX̄ó\ dü>∑≥T 8.  Ä sêX̄ó\˝À ˇø£ sê• 20 ‘=*–+#·ã&çq~. nsTTq $T–*q sêX̄ó\

dü>∑≥T m+‘· ?  (dü.kÕ.)      [       ]

A) 7 B) 5 C) 21 D) 12

20. ˇø£ Áø£eT eè‘êÔø±s¡ dü÷ú|üeTT uÛÑ÷yê´kÕs¡úeTT 14 ôd+.MT. eT]j·TT m‘·TÔ 21 ôd+.MT. nsTTq

<ëì eÁø£‘·\ yÓ’XÊ\´eTT m+‘·?  (dü.kÕ.)     [       ]

A) 616 #·.ôd+.MT. B) 1848 #·.ôd+.MT. C) 3080 #·.ôd+.MT. D) 12936 #·.ôd+.MT.

21. øÏ+~ yêì˝À sin θ $\Te @~ ø±≈£L&É<äT ?  (ø±.ì.) [       ]

A) 
3

4
B) 

3

4

−
C) 

4

3
D) 

1

2

22. áÁøÏ+~ yêì˝À Sin x  ≈£î düe÷qyÓTÆq~ (e´.|ü.) [       ]

A) 
21  

 

Cos x

Cos x

−
B) 2

 x

1  

Tan

Tan x−
C) 2

Sin x

1  Sin x−
D) 

21  

 x

Cos x

Cos

+

23. áÁøÏ+~ yê{Ï̋ À @ yê<äq\T dü‘·́ eTT\T ? (ø±.ì.)      [       ]

A)  ¬s+&ÉT HêD…eTT\T m>∑Ts¡ẙdæq|ü⁄&ÉT 3 |üs¡́ ekÕHê\T+{≤sTT. (¬s+&ÉTu§eTà\T, ¬s+&ÉT u§s¡TdüT\T,

   ˇø£ u§eTà ˇø£ u§s¡TdüT) ø£qTø£ |üs¡́ ekÕq dü+uÛ≤e´‘· 
1

3

B)  ˇø£ bÕ∫ø£qT <=]¢+∫q|ü⁄&ÉT |ü&̊~ dü]dü+K´ Ò̋ø£ uÒdædü+K´ ø±e⁄q uÒdædü+K´ |ü&̊ dü+uÛ≤e´‘·

   
1

2
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C)  52 ø±s¡T¶\T >∑\ ˇø£ ù|ø£ ø£≥º̋ À 4 $uÛ≤>±\T+{≤sTT. ø£qTø£ m+|æø£#·dæq ø±s¡T¶ @dt n>∑T≥≈£î

   dü+uÛ≤e´‘· 
1

4

D)  eTT>∑TZs¡T $<ë´s¡Tú\˝À Ç<ä›s¡T |ü⁄{Ïºqs√E\T dü+e‘·‡s¡eTT˝À π̌øs√E e#̊Ã dü+uÛ≤e´‘· 3.65

24. ˇø£ eè‘·ÔeTT ABCD #·‘·Ts¡T“¤C≤ìï P, Q, R, S

_+<äTe⁄\ e<ä› ‘ê≈£î#·Tqï~. nsTTq áÁøÏ+~

yêì˝À dü‘·́ yÓTÆq~  (ø±.ì.)

A) AB + CD = BC + DA B)  AB + AD = BC + CD

C) AD + DC = AD + BC D)  AB + BC + CD < AD [       ]

25. ΔPQR ˝À uÛÑTC≤\T PQ eT]j·TT PR \ô|’ _+<äTe⁄\T es¡Tdü>± E eT]j·TT F.  áÁøÏ+~ yêì˝À

@ dü+<äs¡“¤eTT˝À EF || QR  (ø±.ì.)      [       ]

A)  = 
PQ PF

PE PR
B)  = 

PE EF

EQ QR C)  = 
PE PF

EQ FR D)  = 
PE QE

EF QR

26. P(E) = 0.05 nsTTq ªE ø±<äTμ jÓTTø£ÿ dü+uÛ≤e´‘·qT XÊ‘·eTT\˝À ‘Ó\T|ü>± (e´.|ü.)   [       ]

A) 5% B) 95% C) 0.95% D) 0.05%

27. ãVüQfīø£eTT R 
1 0

0 2

 = 
2

f f
l h

f f f

⎡ ⎤− ×⎢ ⎥− −⎣ ⎦
 dü÷Á‘·eTT˝À ƒ

o
 dü÷∫+∫q~  (e´.|ü.) [       ]

A) ãVüQfīø£ ‘·s¡>∑‹ eTT+<äT ‘·s¡>∑‹ bÂq'|ü⁄q´+

B) ãVüQfīø£ ‘·s¡>∑‹ yÓqTø£ ‘·s¡>∑‹ bÂq'|ü⁄q´+

C) ãVüQfīø£ ‘·s¡>∑‹ bÂq'|ü⁄q´+

D) ãVüQfīø£ X̄Sq´‘·s¡>∑‹ bÂq'|ü⁄q´+
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Summative Assessment III - Model Paper
Mathematics

(English Version)

Time : 15 Min + 2 hr. 30 min.       Paper-II Max. Marks : 40

Instructions : 1. Read the whole question paper and understand every question thoroughly,

without writing any thing and 15 minutes of time is alloted for this.

2. Answer all the questions.

3. Write answers to the objective type questions on answer sheet, but at same

place.

I. Answer to all the following questions.  Each question carries 1 mark. 7I1 = 7

1. Statethe formula to find Median for a grouped data and explain  the terms. (Comm)

2. The information realted to the health tests conducted for students of a class are as

follows :

Blood Group A AB B O

Number of Students 10 13 12 5

If a student is selected at random from this class, then find the probability for the blood

group of that selected boy to be 'B'.  (P.S.)

3. When a line segment is drawn with two midpoints of two sides of a triangle.  Then relate

the line segment with the third side ? Justify your answer. (R & P)

4. If a cone, hemisphere, cylinder are on the same base and having the same height, then

what is the ratio of their volumes.  Justify your answer.  (R & P)

5. Write trigonometric identity in Tan θ and Sec θ.  (Comm)

6. If the length of shadow of a tower is 3  times its height, then the angle with which a

person standing at the end of the shadow will see the top of the tower. (P.S.)

7. For a circle with centre 'o', 'p' is an external point.

If PS and PT are tangents drawn to the circle,

then find POS .  (P.S.)



164 ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○

 ñbÕ<Ûë´j·TT\ ø£s¡B|æø£ ̀  10e ‘·s¡>∑‹ ̀  >∑DÏ‘·+

II. Answer all questions.  Each question carries 2 marks. 6I2 = 12

8. Prepare ascending cumulative frequency table for given below.

In a company the salaries of employees and their number like this. (Comm)

Employees salary 5-10 10-15 15-20 20-25 25-30 30-35 35-40

Number of employees 4 45 20 13 9 7 2

9. If tan θ + sin θ = m, tan θ - sin θ = n, then express the value of m2 - n2 in terms of

m and n.  (Comm)

10. In a leep year find the probability of getting 53 Sundays.  Similarly find the probability

of getting 54 Sundays.  Justify your answer.  (R & P)

11. A square of side 25 cm is divided into n2 equal small squares.  If circles are drawn in

each of these small squares touching all the sides, then find the area of the given square

not covered by these circles.  (P.S.)

12. If there spheres of radius 3 cm, 4 cm and 5 cm are melted and cast into a large sphere,

then find the radius of the large sphere so formed. (P.S.)

13. Triangle ABC is an isosceles triangle in which AB = AC.

Point D is mid point of AC.  If a circle is dranw passing

through B, intersecting AB at P and 'D' as point of contact

so that AC is a tangent to the circle at D, then prove that

AP = 
1
4

 AB.  (R & P)

III. Every question is provided with internal choice.  Each question carries 4 marks.

14(a) From any point in the interior of the triangle, lines are

drawn parallel to the sides of it.  If the areas of the three

small triangles thus formed are 4, 9 and 16 square units

then find the area of the given larger triangle.  (P.S.)
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(OR)

  (b) For a circle with centre 'o', point 'T' is an

external point.  TA and TB are tangents

drawn to the circle from T.  Chord AB

intersects AO  at C.  If

2 2

1 1 1
 +  = 

36OA TA
 then find the value of

AB.  (P.S.)

15(a) The Crop yielding for a hectar of 100 farmers of a village is given as follows :

Crop yielding (in quintols) 30`35 35`40 40`45 45`50 50`55 55`60

No. of farmers 4 6 12 24 32 22

Represented the above data in the form of a less than cumulative frequency curve.

(Rep & V)

(OR)

  (b) Draw a line segment AB of length 10 cm.  With 'A' as centre and 5 cm radius draw

a circle.  With 'B' as centre and 3 cm radius draw another circle.  Draw tangents from

centre of each circle to the other circle.  (Rep & V)

16(a) The perpendicular sides of a right triangle are 6 cm and 8 cm.  If it is rotated about

its hypotenure, then find the volume of the double cone so formed.  (Comm)

(OR)

  (b) A rectangle ABCD is discribed in a circle of radius 6

cm.  Diagonals of that rectangle interscit at 'o' and one

of the angles thus B formed is ªθμ then find the area of

the rectangle ABCD in terms of ªθμ.  (Comm)

17(a) A tree was broken by a wind and top of the tree is touching the ground making an angle

of 30o.  If the point where top touches the ground to the bottom of the tree is 20m,

then find the height of the tree before it was broken.  (P.S.)
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(OR)

  (b) Find Arithmetic mean for the following data.  (P.S.)

Marks 0`9 10`19 20`29 30`39 40`49 50`59

Number of students 3 8 14 21 9 5

IV. Answer all questions.  Each question carries 
1

2
 mark. 10 I 

1

2
 = 5

18. In ΔABP, if 'c' is a point on BP such that  = PAC ABC ,

then PC.PB is equal to  (Comm)

A) AP2 B)  AC2 C) AB2 D) BC2 [       ]

19. The average of 13 scores is 8.  If one of the scores 20 is deleted from them, then the

average of the remaining scores is  (P.S.)     [       ]

A) 7 B) 5 C) 21 D) 12

20. If the base radius of a right circular cylinder is 14 cm and its height is 21 cm, then its

curved surface area is  (P.S.)     [       ]

A) 616 cm2 B) 1848 cm2 C) 3080 cm2 D) 12936 cm2

21. Which value among the following is not possible for sin θ  (R & P) [       ]

A) 
3

4
B) 

3

4

−
C) 

4

3
D) 

1

2

22. which one of the following is equal to Sin x is  (Comm) [       ]

A) 
21  

 

Cos x

Cos x

−
B) 2

 x

1  

Tan

Tan x−
C) 2

Sin x

1  Sin x−
D) 

21  

 x

Cos x

Cos

+

23. Which one of the following is true  (R & P)      [       ]

A) When two coins are tossed there are three possible outcomes, two heads, two tails,

    one head and one tail so its probability is 
1

3

B) When a dice is rolled the possible outcome is an even number or odd number so

    its probability is 
1

2
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C) A deck of 52 cords contain 4 suits.  So the probability of a selected card to become

   ace is 
1

4

D) Out of three students, the probability for two students to have the same date of birth

    in a year is 3.65

24. ABCD is a quadilateral and a circle touches the sides of it at points P, Q, R and S

respectively then which one of the following is true.  (R & P)

A) AB + CD = BC + DA B)  AB + AD = BC + CD

C) AD + DC = AD + BC D)  AB + BC + CD < AD [       ]

25. In ΔPQR, E and F are points on sides PQ and PR respectively.  In which of the

following situations we set EF || QR  (R & P)      [       ]

A)  = 
PQ PF

PE PR
B)  = 

PE EF

EQ QR C)  = 
PE PF

EQ FR D)  = 
PE QE

EF QR

26. If P(E) = 0.05 then express the probability of "Not E" in percentage is (Comm)  [       ]

A) 5% B) 95% C) 0.95% D) 0.05%

27. In the formula of mode

mode = 
1 0

0 2

 = 
2

f f
l h

f f f

⎡ ⎤− ×⎢ ⎥− −⎣ ⎦
, ƒ

o
 represents  (Comm) [       ]

A) frequency of preceding model class

B) frequency of succeeding model class

C) frequency of model class

D) frequency of zero model class.
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Á|üX̄ï s¡ø£eTT / yê´düs¡÷|ü \|òüTTdüe÷<Ûëq n‹\|òüTTdüe÷<Ûëq \øå±´‘·àø£

$<ë´Á|üe÷D+ Á|üX̄ï\T Á|üX̄ï\T Á|üX̄ï\T Á|üX̄ï\T

(16 e÷s¡Tÿ\T) (12 e÷s¡Tÿ\T) (7 e÷s¡Tÿ\T) (5 e÷s¡Tÿ\T)

düeTkÕ´ kÕ<Ûäq 2 2 2 4

(16 e÷s¡Tÿ\T) (2I4 R 8) (2I2 R 4) (2I1 R 2) (4I
1

2
 R 2)

ø±s¡DeTT\T #Ó|üŒ&É+

eT]j·TT ìs¡÷|üD ` 2 2 4

(8 e÷s¡Tÿ\T)

e´ø£Ô|üs¡#·&ÉeTT ` 1 1 2

(4 e÷s¡Tÿ\T) (1I2 R 2) (1I1 R 1) (2I
1

2
 R 1)

nqTdü+<ÛëqeTT 1 ` 2 `

(6 e÷s¡Tÿ\T) (1I4 R 4) (2I1 R 2)

<äèo´ø£s¡DeTT `

ÁbÕ‹ì<ä́ |üs¡#·&É+ 1 1 ` `

(6 e÷s¡Tÿ\T) (1I4 R 4) (1I2 R 2)

III. áÁøÏ+~ yêì˝À Äs√Vü≤D dü+∫‘· bÂq'|ü⁄q´ eÁø£eTTqT dü÷∫+#·T |ü≥eTT @~?

11. ˇø£ ≥esYbÕ<ä+ es¡≈£î ˇø£ #·ø£ÿì s¡Vü≤<ë] ñ+~. Ä ≥esYô|’ ì\ã&çj·TTqï sêeTj·T´ nH̊ e´øÏÔ

<ä÷s¡eTTqT+&ç edüTÔqï ø±s¡TqT 30
+
 \ ìeTï ø√DeTT˝À #·÷kÕ&ÉT. düeTẙ>∑eTT˝À edüTÔqï Ä ø±s¡TqT

6 ôdø£+&É¢ ‘·s¡Tyê‘· 60
+
 \ ìeTï>∑ø√DeTT‘√ >∑eTì+#ê&ÉT. á kÕúqeTT qT+&ç ø±s¡T ≥esYqT #̊s¡&ÜìøÏ

|ü≥Tºø±\eTT m+‘·? á düeTdǘ  kÕ<Ûäq≈£î ø±e\dæq |ü≥eTTqT ^j·TTeTT?
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düe÷<Ûëq |üÁ‘·eTT

Section-I

1. dü>∑≥T R  R 
2 2 3 2 5 2 7 2 10

5

+ + + + + + + +
 R 9 (

1

2
 e÷s¡Tÿ)

5 25
5

x +
 =  9  ⇒   5x G 25 R 45

 ⇒  5x  = 20

 ⇒   x  = 4

∫e] eT÷&ÉT sêX̄ó\ dü>∑≥T R 
2 5 7 2 10

3
x+ + + + +

 R 
3 22

3
x +

(
1

2
 e÷s¡Tÿ)

   R 
3(4) 22

3
+

 R 
34
3  R 11.3

2. B Á>∑÷|ü⁄ s¡ø£ÔeTT ø£*Zq $<ë´]ú (
1

2
 e÷s¡Tÿ)

m+|æø£ nj̊T´ dü+uÛ≤e´‘·     R  
12

(10 13 12 5)+ + +  R 
12
40  R 

3
10  R 0.3

3. >√fīeTT yê´kÕs¡ΔeTT R r nqT≈£î+fÒ yê´kÕs¡úeTTqT 10% ô|+∫‘̊ yê´düeTT R (1.1) r (1 e÷s¡Tÿ)

>√fīeTT |òüTq|ü]e÷DeTT˝À ô|s¡T>∑T<ä\ ø±\eTT R 
( ) 3 3

3

1.1
100

r r

r

−⎡ ⎤⎣ ⎦ ×

   R (1.33`1) I 100 R 33.1%

4. X̄+KTe⁄, ns¡ú>√fīeTT, dü÷ú|üeTT |òüTq|ü]e÷DeTT\ ìwüŒ‹Ô (∵  uÛÑ÷eTT\T, m‘·TÔ\T düe÷qeTT ø£qTø£

l = h, = r)

=  
3 3 31 2

: :
3 3

r r rπ π π  = 1 : 2 : 3 (1 e÷s¡Tÿ)

5. tan θ + sin θ = m, tan θ - sin θ = n nsTT‘̊ (1 e÷s¡Tÿ)

m2 - n2 =  (tan θ + sin θ)2 - (tan θ - sin θ)2

=  4 tan θ sin θ = 4 mn

6. Tan θ = 
1

  
3 3

h

h
=  R Tan 30 (1 e÷s¡Tÿ)

}s¡›ø√DeTT R 30
+

sêX̄ó\ yÓTT‘·Ô+

sêX̄ó\ dü+K´
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7. OPT  R 30
+
 ⇒  POT  R 60

+
(1 e÷s¡Tÿ)

    ⇒  ΔOTP ≅  ΔOSP

  POS  = 60o

8. \+ãø√D Á‹uÛÑT» uÛÑTC≤\T eT]j·TT yê{Ï ø=\‘·\T dü]dü+K´\T nq>± ô|’<ë>∑s¡dt Á‹ø£eTT\T˝À nìïj·T÷

dü]dü+K´\T ø£*Zq$ m+#·Tø√yê*. eTT+<äT>±

(3, 4, 5) (6, 8, 10) (7, 24, 25)  ............. yê{Ï̋ À) (6, 8, 10) ø±e\dæq Á‹ø£+

6 G 8 G 10 R 24 #·T≥Tºø=\‘· #·T≥Tºø=\‘· R yÓ’XÊ\´eTT nqT ìã+<Ûäq≈£î dü]jÓÆTq~.
1

2
 I 6 I 8 R 24 yÓ’XÊ\´eTT n+<äT#̊ uÛÑTC≤\ ø=\‘·\qT 6, 8, 10 >± >∑T]Ô+#·e#·TÃ.

9. Tan (90-θ) = Cot θ, nq>± tan θ . tan (90-θ) = 1

Tan 75 = tan (90-15) tan 15 . tan (90-15) = 1

Tan 65 = tan (90-25)   ∴ tan 25 . tan (90-25) = 1

Tan 55 = tan (90-35) tan 35 . tan (90-35) = 1

Tan 45 = 1 tan 45  = 1

∴ tan 15 . tan 35 . tan 45 . tan 55 . tan 65  = 1 (
1

2
 e÷s¡Tÿ)

10. ©|ü⁄ dü+e‘·‡s¡eTT˝À 366 s√E\T+{≤sTT.

366 R (52 yês¡eTT\T) G 2 s√E\T

2 s√E\T R Ä~yês¡eTT G @<Ó’Hê yês¡eTT s√E

nq>± |òæÁãe] 29 Ä~yês¡eTT nsTT‘̊ $T–*qs√E @<Ó’Hê ˇø£ yês¡|ü⁄s√E nj̊T´ neø±X̄eTT ñ+~.

nq>± 52 yês¡eTT\qT+&ç 52 Ä~yês¡eTT\T, n<äqeTT>± ñqï 2 s√E\˝À ˇø£s√E Ä~yês¡eTT nsTT

$T–*qs√E ≈£L&Ü Ä~yês¡eTT nsTT‘̊ (yÓTT‘·Ô+ñ 54 Ä~yês¡eTT\T) dü+uÛ≤e´‘·

R 
1

7

2 s√E\T R (Ä~, k˛eT), (k˛eT, eT+>∑fī) (eT+>∑fī, ãT<Ûä) (ãT<Ûä, >∑Ts¡T) (>∑Ts¡T, X̄óÁø£), (X̄óÁø£, X̄ì),

(X̄ì, Ä~)

nq>± yÓTT‘·ÔeTT |òüT≥q\ dü+K´ R 7

ø±e\dæq |òüT≥q\ dü+K´ R 2 (Ä~, k˛eT), (X̄ì, Ä~)

∴ 53 Ä~yês¡eTT\T e#̊Ã dü+uÛ≤e´‘· R 
2

7
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11.

12. 3 ôd+.MT., 4 ôd+.MT. eT]j·TT 5 ôd+.MT. yê´kÕs¡ΔeTT ø£*Zq |òüTq|ü⁄ >√fīeTT\

|òüTq|ü]e÷DeTT\ yÓTT‘·ÔeTT R ( ) ( )3 3 34 4
3 4 5  = 27 64 125

3 3
π π+ + + +

R ( )4
216

3
π

R ( )34
6

3
π

∴ @s¡Œ&çq ô|<ä›>√fīeTT jÓTTø£ÿ yê´kÕs¡úeTT R 6 ôd+.MT. (1 e÷s¡Tÿ)

13. AD düŒs¡ÙπsK, APB eè‘·Ô#̊Ã¤<äqπsK

∴ AP I AB = AD2

⇒  AP I AB = 
2

1

2
AC

⎛ ⎞
⎜ ⎟
⎝ ⎠

⇒  AP I AB = 
1

4
 AC2

      = 
1

4
 AB2

⇒  AP  = 
1

4
 AB

⇒  AB  =  4 AP

∵  AC  =  AB
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14. Δ t
1
 N Δ ABC

Δ t
2
 N Δ ABC

Δ t
3
 N Δ ABC

Δ t
1
, Δ t

2
, Δ t

3
, ΔABC Á‹uÛÑT»eTT\

uÛÑT»eTT\T es¡Tdü>± c
1
, c

2
, c

3
, c nqTø=+<ë+.

            R 

2
1
2

c

c

            R 

2
2
2

c

c

            R 

2
3
2

c

c

⇒  
2 3 4

 ABC     

+ +
Δ   =  1   ⇒        ABCΔ  = 9

∴ ΔABC yÓ’̂ ˆ R 81 #·.j·T÷ì≥T¢.

˝Ò<ë

eè‘·Ô u≤Vü≤´eTT˝Àì @<Ó’Hê _+<äTe⁄qT+&ç b˛j̊T πsK,

Ä _+<äTe⁄qT+&ç ^dæq düŒs ¡Ù πsK\#˚ @s¡Œ&çq

düŒs¡Ù_+<äTe⁄\qT ø£*|æq πsU≤K+&ÉeTTqT \+ã

düeT~«K+&Éq #̊düTÔ+~.

TO ⊥  AB

ΔOAT yÓ’XÊ\´eTT R 
1

2
 I OA I AT

ΔOAT yÓ’XÊ\´eTT R 
1

2
 I OT I AC

1

2
 I OA I AT =  

1

2
 I OT I AC

(düs¡÷|ü 243 yÓ’XÊ\´eTT\ ìwüŒ‹ yê{Ï nqTs¡÷|ü uÛÑTC≤\

es¡ZeTT\ ìwüŒ‹ÔøÏ düe÷q+)

G}
⇒   1 

 ANC     

tΔ
Δ

 + 2 

 ANC     

tΔ
Δ

 + 3 

      

t

ABC

Δ
Δ

4 3 10

 ABC

+ +
Δ

 =  31 2 cc c

c c c
+ +

=  1 2 3  =  = 1
c c c c

c c

+ +

Δ t
1 
yÓ’XÊ\´+

ΔABC yÓ’XÊ\´+

Δ t
2 
yÓ’XÊ\´+

ΔABC yÓ’XÊ\´+

Δ t
3 
yÓ’XÊ\´+

ΔABC yÓ’XÊ\´+ yÓ’̂ ˆ

yÓ’̂ ˆ

yÓ’̂ ˆ

yÓ’̂ ˆ

yÓ’̂ ˆ

yÓ’̂ ˆ

yÓ’̂ ˆ

yÓ’̂ ˆ
yÓ’̂ ˆ
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Çs¡TyÓ’|ü⁄˝≤ es¡Z+ #̊j·T>±

OA2 . AT2 =  OT2 . AC2

2

2 2 2

1
 = 

.

OT

AC OA AT

2 2

2 2 2 2

1 1
 = 

.

OA AT

OA AT OA AT

+ +

 ø±ì ô|’<∏ë>∑s¡dt dæ<ëΔ+‘· Á|üø±s¡+   OA2 G AT2 =  OT2

 ø±ì …̋ø£ÿ Á|üø±s¡+ 2 2

1 1 1
 = 

36OA AT
+

∴  2

1 1
 = 

36AC
 ⇒  AC = 6

∴  AB = 12

15. ‘·s¡>∑‹ n+ø£+ eT<Ûä́  $\Te\T bÂq'|ü⁄q´+ Äs√Vü≤D dü+∫ø£

    C.I. f

30`35 32.5 4 4

35`40 37.5 6 4G6 R 10

40`45 42.5 12 10G12 R 22

45`50 47.5 24 22G24 R 46

50`55 52.5 32 36G32 R 78

55`60 57.5 22 68G22 R 100

x-nø£åeTTô|’ 1 ôd+.MT. R 5 j·T÷ì≥T¢

y-nø£åeTTô|’ 1 ôd+.MT. R 10 j·T÷ì≥T¢
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x-nø£åeTTô|’ ‘·s¡>∑‹ eT<Ûä́  ì\Te\qT, y-nø£åeTTô|’ Äs√Vü≤D dü+∫ø£ bÂq'|ü⁄q´eTT\qT rdüTø=ì Á>±|òü⁄

^j·÷*.

ìsêàDÁø£eTeTT :

(i) 10 ôd+.MT. bı&Ée⁄ >∑\ πsU≤K+&ÉeTTqT ùdÿ\T düVü‰j·TeTT‘√ ^j·TTeTT.

(ii) Bìì AB nì ù|s¡Tô|{Ïº A πø+Á<äeTT 5 ôd+.MT. yê´kÕs¡úeTT >∑\ eè‘·ÔeTTqT, B πø+Á<äeTT>±

3 ôd+.MT. yê´kÕs¡úeTT ø£*Zq eè‘·ÔeTTqT ì]à+#·TeTT.

(iii) AB jÓTTø£ÿ \+ãdüeT~«K+&Éq πsKqT ^∫ AB jÓTTø£ÿ eT<ä́ _+<äTe⁄qT M >± >∑T]Ô+#·TeTT.

(iv) M qT πø+Á<äeTT>± rdüTø=ì AM Ò̋<ë BM yê´kÕs¡úeTT>± eè‘·ÔeTTqT ^j·TTeTT.

(v) á eè‘·ÔeTT 5 ôd+.MT. yê´kÕs¡úeTT >∑\ eè‘·ÔeTTqT K+&ç+#·T _+<äTe⁄\qT R, S \T>± >∑T]Ô+#·TeTT.

(vi) BR, BS \qT ø£\T|ü⁄eTT.  BR, BS \T A πø+Á<äeTT>± >∑\ eè‘·TÔeTTq≈£î düŒs¡ÙπsK\T n<̊$<ÛäeTT>±

B πø+Á<äeTT>± eè‘·ÔeTTq≈£î AP, AQ \qT ^j·÷*.

16. (i) ABC \+ãø√D Á‹uÛÑT»eTT

AB = 6 ôd+.MT., AC = 8 ôd+.MT.,

∴  BC = 10 ôd+.MT.,

OA = x, OB = y nqT≈£î+<ë+

ΔBOA η  ΔBAC

⇒  
6

y
 =  

8

x
 = 

6

10

⇒  y  =  
6 6

10

×
  =  3.6
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 x  =  
8 8

10

×
 = 6.4 ∴ OA = 12 ôd+.MT.

OB = 36 ôd+.MT.

~«X̄+KTe⁄ Äø±s¡ edüTÔe⁄ |òüTq|ü]e÷DeTT

R  ( ) ( )2 21 1
   +   

3 3
OA OC OA OBπ π× ×

R  ( ) ( )2 21 1
 6.4  64 +  6.4  3.6

3 3
π π× ×

R  
1

  40.96  10
3

π × ×

R  419.67 |òüTq|ü⁄ ôd+.MT.

17. #Ó≥Tº m‘·TÔ R x + y nqT≈£î+<ë+.

tan 30  = 
20

x

⇒   x  =   
20

3
 MT≥s¡T¢

Cos 30  = 
20

y

3

2
 =  

20

y   ⇒   y  =  
40

3
 MT≥s¡T¢

 ∴ #Ó≥Tº m‘·TÔ R 
20 40 60

 = 
3 3 3

+

=  
60 3 6. 3

 = 
33 3

×

      =  20 3

      =  20(1.732)

      =  34.64 MT≥s¡T
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˝Ò<ë

e÷s¡Tÿ\T $<ë´s¡Tú\ dü+K´ eT<Ûä́  $\Te\T

  C.I. f x fx

0`9 3 4.5 13.5

10`19 8 14.5 116

20`29 14 24.5 343

30`39 21 34.5 724.5

40`49 9 44.5 400.5

50`59 5 54.5 272.5

              f∑ 60                    fx∑  R 1870

dü>∑≥T R 
1870

  =  
60

fx

f

∑

∑

           R 31.16

eT<Ûä́ $\Te\T ø£qT>=+fÒ 1 e÷s¡Tÿ

ƒx $\Te\T ø£qT>=H̊+<äT≈£î 1 e÷s¡Tÿ

Σƒx, Σƒ $\Te\T ø£qT>=H̊+<äT≈£î 1 e÷s¡Tÿ

dü>∑≥T $\Te ø£qT>=H̊+<äT≈£î 1 e÷s¡Tÿ.

18. \øå±´‘·àø£ Á|üX̄ï\T

1. pc.pb  =  AP2 Option   A   is correct.

2. 13 X̄ó\ dü>∑≥T 8 ⇒  sêX̄ó\ yÓTT‘·ÔeTT dü+K´ R 13I8 R 104

20 ‘=*–+#·ã&çq sêX̄ó\ yÓTT‘·ÔeTT R 104`20 R 84

∴ dü>∑≥T  R  ( )
84 84

  =  
13 1 12−   R  7

Option   A   is correct.
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3. dü÷ú|üeTT jÓTTø£ÿ eÁø£‘·\ yÓ’XÊ\´+  R  2πrh

                   =  
22

2    14  21
7

× × ×   =  1848 #·.ôd+.MT.

Option   B   is correct.

4.
52 tan 24

  
tan 38 (66)

Cot

Cot
+ 52, 38 are complementary angles

∴  Cot52  =  tan38,  tan24 = Cot66 24, 66 are also complementary angles.

∴ 
52 tan 24

  
tan 38 66

Cot

Cot
+  =  1 + 1 = 2

Option   B   is correct.

5.
21

 = tan x,
 x

Cos x

Cos

−
   

tan tan
 =  = sin x

sin1 tan

x x

xx−

2

  x
  =   = tan x

 x1

Sin x Sin

CosSin x−
,    

2

2

1 1
  =  

 1

Cos x

Cos x Cos x

+
+

∴ Option   B   is correct.

6. bÕ∫ø£qT <=]¢+∫q|ü⁄&ÉT (1, 3, 5) Ò̋<ë (2, 4, 6)

2, 4, 6 ø±e\dæq |òüT≥eTT\T nq>± 3 |òüT≥q\T nqT≈£L\ |òüT≥eTT yÓTT‘·ÔeTT |òüT≥q\T

dü+uÛ≤e´‘·  R  
3 1

 = 
6 2

∴ Option   B   is correct.

7. AP  = AS AP + PB + SD + Cφ  =  AS + CR + DR + Bφ

SD  = DR AB + DR + Cφ        =  AB + SD + Cφ + Bφ

PB  = Bφ AB + BC               =  CD + DA

Cφ  = CR

∴ Option   A   is correct.
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8.  = 
PE PF

EQ FQ

⇒  EF  | | QR

∴ Option  C   is correct.

9. P(E)  =  0.05 ( )P E   =  1 - 0.05

         =  0.95

P(E) + ( )P E  = 1 ( )P E eè‘·ÔeTT˝˝À 0.95 I 100 R 95%

∴ Option   B   is correct.

10. ƒo nqTq~ ãVüQfīø£ ‘·s¡>∑‹.  eTT+<äT ‘·s¡>∑‹ bÂq'|ü⁄q´eTTqT dü÷∫+#·TqT.
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C)  A deck of 52 cords contain 4 suits.  So the probability of a selected card to become

    ace is 
1

4

D) Out of three students, the probability for two students to have the same date of birth

   in a year is 3.65

(vii) ABCD is a quadilateral and a circle touches the sides of

it at points P, Q, R and S respectively then which one

of the following is true.

A) AB + CD = BC + DA B)  AB + AD = BC + CD

C) AD + DC = AD + BC D)  AB + BC + CD < AD [       ]

(viii) In ΔPQR, E and F are points on sides PQand PR respectively.  In which of the

following situations we set EF || QR      [       ]

A)  = 
PQ PF

PE PR
B)  = 

PE EF

EQ QR C)  = 
PE PF

EQ FR D)  = 
PE QE

EF QR

(ix) If P(E) = 0.05, then express the probability of "Not E" in percentage is [       ]

A) 5% B) 95% C) 0.95% D) 0.05%

(x) In the formula of mode

mode  =  
1 0

0 2

 = 
2

f f
l h

f f f

⎡ ⎤− ×⎢ ⎥− −⎣ ⎦
, ƒ

o
  represents [       ]

A) frequency of preceding model class

B) frequency of succeeding model class

C) frequency of model class

D) frequency of zero model class.
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